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goobod —-o0obbooboob —000,0000000000D0O0,0
gogn

e UMD U.write

000000 - 0oobobboobobooob - 0oooo, 0000000 oooon,
goooo
goobog.

oo, ATMOO0ODOOOooooboobooboo obCLuoonooobuonooon.
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--- Get Money Sequence(U DO OOOODOO)
tla is
source sl
input U.getmoney --- 0O 0OO0OO0O00OO
destination s2
end
t2 is
source s2
input U.imsert --- JOOOO0O
destination s3
end
t3 is
source s3
input U.inpass --- DO OO0 OO0
do a:=a-1;
L.sendpass.pass:=U.inpass.pass
destination s4
output {L.sendpass} --- 00000000000
end
t4a is
source s4
input L.passerror --- JUO0OOOOOODOODOOO
when a>0
do D.string.msg:="Password Error! Try again."
destination s3
output {D.string}
end
t4b is
source s4
input L.passerror -——- JUUO0O0OO0OO0OOOOOOO
when a=0
do a:=3;
D.string.msg:="Your password fault! Try again, first."
destination sl
output {D.string}
end
tdc is
source s4
input L.passok
do D.string.msg:="Your password OK!"
destination sb
output {D.string}

end
tba is
source sb
input U.number --- OO OO0OOOOO
when c<U.number.val --- ATMU CapacityUUUODO0O0OOOOOO

do D.string.msg:="ATM Capacity Error! Try again."
destination sb
output {L.atmerror, D.string}

end
tbb is
source sb
input U.number --- OO O0O00O0OO

when c¢>U.number.val or c¢=U.number.val

do b:=U.number.val;
.outdata.val:=U.number.val

destination s6

output {L.outdata} --- JO0O0OOOOOOOO
end
t6a is

source s6
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input L.moneyerror --- JUUOOOODODODOODOOOOO
do b:=0;
D.string.msg:="You don’t have such money. Try again.
destination sb5
output {D.string}

end

t6b is
source s6
input L.moneyout --- JUOOO0OO0OO0OOOOO0O
do ¢:=c¢c-b; b:=0; a:=3; --- 000

U.putout.val:=b
destination sl
output {U.putout} --- 00O orO0O0 O OO

end
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4.4.2 0O00O00O0O0OO0OOOOOOOOOO

gogoboboooogao
e JJ0O0DDODOD - 000 /OODODO0 —0OODODOODO

gogogbboboooobobboooobobo.

0 4.13: ATMOODOO

goguodgboodgboboobo,bbogbbodgbboobbooboooboon.

[DO00O0O0O0O00000]

() bODO0O00o0oO0oOoooooo(ooo,0o0o00,0000)DO00O00.

(2 000O0O0O0D0O0D0D0D0OOOOOOO,0000s100s2000000000
gbbobuooobb,ogoboboooobobbg.

(3) 00000000000 0ODOOO0OO0DOoDOOO0OoOUo.

a) 00000
00000,00000000 U.dnsert(000/0000)00000000,
D00000000000000000000000,00000(0000
D’e)0000000000000000.

00000,00000000000000000000000000000
00000000, ATMOOO0O00O000000000000000000
ooooooooooo.

b) 0000
00000000, 0000 (U.getmoney) 0000000 413000 30
D00000000000.000 (00 3,00 s4,00 s5,00 s6)000
s3000000000,000000000000.
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(4) 00000000 s1 0000000000000 00O0OODODOO.

goobbb41100bbugogoboobdd 4-13000.

e := “putmoney”
e:="“write”
e = “getmoney”

MF8Y A4l e="putmoney”

H—K
_ [ERIEA
M@&MREEA L e="write”

[51E=HL ] e="getmoney”

0 4.14: 0000/00/000000000 ATM

4.4.3 0000

00000000 /O00/o0bo0oU0oOo0ooU0oOooO0oUooooooooOoood
goog.
ooooo0 ATMOOOOOoooooboooooooooooobooooooo.

L.moneyout
/U.putout

U 415 0000000000
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googgbobobooooobboboo.

e JUUDDD writeJ O O.
e LUUOODODOUOOOODOOOOODLDDODO.
e HUUOUOUDLODLODLOOODLDOOOOODLDODO.

gogoboboobbobbboooobod
e UUOUOU0 —0O0ULULO —0ODLODODOO

gboooogoboboobuooobuooobbooobboooobo.obbbooobobo
el lockO000O0O00ODOOOOO.

0000 ,000000000000/O00/000000oo0o0O,00000000
gbobobbogooabbodadad.

e = “putmoney”
e:="write
e:="“look”
e = “getmoney”

[F8Y A4L] e=* putmoney”

H—K
RS A

M@EmREEA 1 e=“write”

MEmiRE 1 e=“look”

glEH L] e="getmoney”

0416 D000OO0O0OOOO ATMOOOOOO
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4.4.4 ATMUOOODOOOO
gbooodgoboboooobboob,ogbbobboobobbooobbuooobobon

gbooboooogn.

goboooogo

OOobOMLOOODODOODODOODDODOOOODOOOOOObOoOOD. 00D ATMOO
gboboboodgbobobbuooobbooogoooboooobbooobobn.

(*
ATMOOOOOoooooad
*)
local
val attr = Attribute.attr;
val makeEventAttr = Event.makeEventAttr;
val system = SysConf.system;
open AttrType;
(x OO0 %)
val CorrectPass = attr ("pass'", String "correct");
val IncorrectPass = attr ("pass", String "incorrect");
fun AttrVal n = attr ("val", Int n);
(x OOO0O =)
val Null = [Event.Null];
val GetMoney = [makeEventAttr ("U.getmoney",[]1)];
val Insert = [makeEventAttr ("U.insert",[])];
val Passl = [makeEventAttr ("U.inmpass",[CorrectPass])];
val Pass2 = [makeEventAttr ("U.inpass",[IncorrectPass])];
fun NumIn n = [makeEventAttr ("U.number",[AttrVal n])];
in

(x 0000000 ODODODOO0O0O =*)
fun makeSeq (ret,0) = ret
| makeSeq (ret,n)
let

fun appendEv ev [] = [[ev]@[Null]®@[Null]]
| appendEv ev 1 =
map (fn a => a@[ev]@[Null]@[Null]) 1;

in

makeSeq (appendEv Passl ret,n-1)@

makeSeq (appendEv Pass2 ret,n-1)@

makeSeq (appendEv (NumIn 10) ret,n-1)
end

xOOoOoODOOOoOoo0 =)
fun execAtm seq = SysConf.system TopList seq 200;

(x 0000000000000 0000000 %)
fun checkEvent log evl =
let
fun contain e [] = false
| contain e (f::es) =
if (Event.name e=f) then
true
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else
contain e es;
fun refinel [] fs = []
| refinel (e::es) fs =

let
val e2 = List.filter (fn el => contain el fs) e
in
if null e2 then
refinel es fs
else
e2::refinel es fs
end
in
refinel (SysConf.sysevlist log) evl
end

(x 0000000000000 val O0OOO (Int) DOOCOO *)
fun checkVal log ev =
map
(fn a =>
(unpackInt (Event.eventAttr ev "val" a)
)
(checkEvent log [ev]);

x JO00ODO0OO0000000000000D00 o)y 0000000 %
fun checkAttrDiff log obj atr =

let
fun getval oc =
let
val a:Attribute.T list list =
(ObjConf.objAttr o SysConf.objConf) oc obj;
in
unpackInt (Attribute.pickupAttr atr (hd a))
end
val firstval = getval (List.hd (List.tl log));
val lastval = getval (List.last log);
in
lastval-firstval
end

(x GetMoney D ODODOO [DODO0DDOOOT %)
fun checkGetMoney n =

let
(» JOO0Ooooooooo =
val seqAll = makeSeq ([[GetMoney]l®@[Insertl],n);
100000000 %
fun checksub e =
let
val log = execAtm e;
val outs = List.foldr (op+) O (checkVal log "U.putout");
val change = checkAttrDiff log "ATMSYSTEM_bank" "val";
in
(outs+change<>0)
end;
in
 DO000OO0ODOOOoOOobOOobDOooboboboooooo =
List.length (List.filter (checksub) seqAll)
end

end
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— MLTRRRYY T

axoremm| | czaL—smmm
execAtm

checkGetMon:

| |
EFENHYAT L
@—» ObMLYZaL—% R

U417 0gbooobooobboooood

bbb dod,dddoboobudbibdmakeseq oo oooonog
gbooboagon.

gobogoogobooboobob,0bo0obb MLODODODOOoDbOobDDbOobDOoo
gbobO.bob,g00bobbbbbbobbbooobbbboouodbbboooan
gboboooogg,bugggboogboobobobobbbboooobbaod.

gooboogoboobogo

00ooo0o0o(Doo0,0000,0000)000000000ODOO0OOOOO
obooobog,ATMOOOOobDooboooobobooboooobobbooboo.

fun checkAll n =

checkGetMoney n + checkPutMoney n + checkWrite n;

ggbodab,bbuodogduobodbbooobobobob,oguoooobobobobbod
goboboodgobogdgbboobboogooooboa.
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4.5 0000 /00/00000000O00O0O0O00OO0OO

ggod,bbbuodoogdgbobbbouoooooob,bbouoboodgbobobbod
g,0bogggoobbooogobouoogooobo.
ggbboogboooobbouooo,ogobbooobbooobboobobobo
gbobobooooobbbuoooob.bbb,oo0bbbboooobbbbooon
goog,0bbooodobbooooobobbuoooon.
gdb,d4le0bodgdbblgbooobboogoboad.bboodobbo
gb1obooogobobbcbboooobbbdoooobbbogd.
ggboobbobobod,gdodob cuogbodoob 20000,000000 1440
gobobobobobbbuoooobbooooobobooobn.

0418 000000gooboon

ggoobobod cgbbbbbuoougoobob,ou,oo0oobobood
goobo.ggd,bbo1ggdo20bbbooobobooooobobbooon
goo,b0obbbobbobbooooobobbobbodg. gug,uoooo0a0o
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goboggbobooobbooobbooobob,bbboobbooooboon
goboo.
gogoboboo,bbbogggoboogoobboaoobon.
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1 5[

Juoootuooogd

oo0o0,00000000000000O0OO0/OD0/0OD00D0O0O0OO0UOO ATM
O00000000000.0000000,00000000000D00000 ObTS/ObCL
gboboboodgbobob,gogbbboooobboboooboboood.

5.1 0O0OOO

5.1.1 IrDAODODOOO

00000, IrDA(Infra-red Data Association) 0 00 0000000000000 O0O
000000 RLAPOOOODOOO,ObTS/ObCLODODOODODOOONOOODOOD.

goooob,bbobdbdguoboooooouoonon.

0510 krDAODOOO0O0ODOOOO0O0OOODOOOO, 000000 oboobDO.

e 'SIRO (OO0O)
IDAODOOOOOOOD (00000000O00000000,000,0000,
000000,000000000)00000.

e ILAPO (0DO0OO0DODO)
KDAODOOOOOOD0D00000000000000000000000000
0000000000000000,00000000000000000000
00000000000000000.

e ILMPO (00000000000)
FLAPOO,00000000000000000000000000O00000
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AP aon IrAPPE
Network Tiny TP/
v IrLMP/E
s Ir(LAP/@
fves IrSIRfE

O5.1: rDADOODOO 4000

000,00000000LMPO0O,00000000000000000000
0000000000000000000000000000.

e TinyTP O (0O0D0DODODO)
DAODOOOOOOD,000000000000000000000000, 0
00000000000000000000000000000000.

e 'APPO (00 0OO0O0O0OO)
000000000000000KDAOOOOOODD,00000000000

gboboogodgobobodad.
oo0o,rfLAPO0OOO0O0OO0O0OOODOODOODOOOOOODO.
e UUOUOOLODLDOOOOODOOOO.

rpA0DO0OO0O0O0DOOO0DOOO0bOO0ObObLOOn.

e U000 0O0OULODODODODDDDO.
O00,00000000 PDA(Presonal Digital Assistant) 00000000000

gboboooogbobood.

e HUUOOOODLODOOOODLDO.
rLAPOOOODOOODOOODODOOOOOOOOOODOOOODOODODO

. o0oggoogobstobugobuogboboobbooboodgbod,bd
oobobo7000O00OnD rkAPODOODOODOOOODO.

OO0, 0b00bdbobobobogo,ob0oobo0b0 A0 1le0oboboooo.
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5.1.2 IrLAPOOO0OO0O

rLAPO0OO0OO0OOO0ODOOOOODOOODOOODOOODO.

CONNECTION%R

/ \

| | STATION

3 SR ZRRERE |
| :*793‘/%&%}—ﬁ—b[¢§$ﬁ§?&]—’{ o | |
! I :
3 13 |
| i

o ~

O 5.2 rLAPOODOODOO

rLAPODOO0ODO0ODOOOOTLOOOOOODOODO.

1

2.b)

ooo0oo/oo0ooo:
O000000/00000 rLAPOOOOOOOO. OOO0ODOODOO IrLAPO
gbobod,gbbobogobbobbooogoboboaod.

gooboogao:
gobbobuoooobbbbuooooobbbooooobb.ooboboon
gbobooooobooboooooobog.

Sniff Open O O O :
OO00O0DO0DOO000000oDoDO0ooooooooooooooon.

FLAPOOO,000000000000,0000000000 Sniff Open OO
goboggo.

gbooooodgobn:
gbbogdoboogbbboobbooouobbbbooobbooooobog
gbbooooodao.

goobobooog,sniff Open 000, 000000000000 CONNECTION OO

go.

4)

CONNECTION O OO OODOODOODOOOOoOoobOoboboboooboo.

goboggo:
CONNECTIONOOODOOOODUODOOOODLO,000oooboobooboo
gogbbuoogooboobood.
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ERFHE Sniff Open T
| |

O 5.3: CONNECTIONDOOOOOOO

5a) DO0O0OOOOOODOOOO:
gobooooobboooobbobbbooooboog.

5b) DODDO:
00000000000000000000000.

O 5.4: STATIONODOODODOO

go0oboooOogDoo STATIONODOO. STATIONODOODOOOoOooooDbod
gboboggbobod.gbbouog,bbogboboba,bbo,gbbooobbodd
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gooboooon.

go0o,000oooogo, rcApOO0OC0DODOODOODODDODDOOOOOOOOO
gboboboooboboogoooood.

gooobooobooboobobob, rLAPODODOODOOODOOOO.

— R —REHE

Baivd = LGB

Y—ERERDEIE
Y—EREROHEREE

Upper field

ITLAPRERR A< —
ITLAPRERA N2k

IrLAPB Local field IrTLAPE

IL—LPT—2DERIE
Physical field

O 5.5: rLAPOOOODOO

ObCLO IrILAPOODO0ODOODOOOOOOODLOODLOOOOOOOODOO.

e Upper field 0 'LAP OO IrLAPOOOOOODOOO(DO0O0OO0ODOOOOOO

0)0000000000,000000000000DO00D0D0DDOOOOOODOO
gooo.

e Physical field 0 ILAPO 000000000000 (DO0DOOOODOO)0OOO
ggbodg,bbbooobobbooobboooobn.

e Local fieldJ 'LAPOUODOODOOOOOODOOO, rLAPODOODODOOODOOOO
googgbuogobobboobobbbouogobbobbbboobadgoboobg.

000000, rLAPODOOOOOODOOOOO/O00/0000O0ODODOOOOOO.
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52 IrLAPOOOODOOOO0OODOOOOOO/O0O0/O000
ooon

5.2.1 0OUOOOoOobooogd

IrLAPODODDOOO, 00000, Sniff Open OO O, Connection DD OO0 O0OOOMO
OOooo0ooboboooboooobooooobobooobo,boobobooboooog
ooooooo.

ooo,bo0oooo,bo0b0o,00gggboboooobooboooo,0oo
Oo0o0o0ob0ooobooooo,0boo0obooboboooooo. bogoo, o
ooodboo,0bo0b0,jdbdbo0obDboobooUobDbooDboobo
OO00oo0o00o0o,000b0bo0oooooob,bobo,000Db0obo0obobOooog
Oooobooboooboooboobgoon.

5.2.2 UO0OO0ODOOOO

IrLAP O ObTS/ObCLO OO ODO0O, CONNECTIONOODOO STATIONOOODOO
ooooo. bod,

¢ CONNECTION O O[O
NDM(OOOOOODO )00 — 0000000 — NDMOO
gbogooooobbobood.

CONNECTIONES
EFHED
REEBE

O 5.6: CONNECTION OO ODOO
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e STATION O OO
XMIT(OOOOOOOOOO) — RECV, BUSY, BUSY WAIT, RESET, RESET CHECK —
NDM OO
gbooboooobbboad.

STATIONER

O 5.7 STATION OO OOO
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5.2.3 0O0OOO0O0OO

Ob00 ATMOOODO, CONNECTION OO STATIONOODODOOODOOO IrLAP
gobooboooggon.

imode="discovery”

mode="sniff”

mode="connection”

/' mode=*primary

mode=secondary

058 0000 rLAPOODODOO

Os80000000 LAPOOODDOOOO. OO0 sOOOO0O0ODOOODOOO Snift
Open DODODOODOODO, OO connection 0O ODOODOODOOODOOOODO, OO
NRMODOOODOOgoooobooooobooooo.

oooobooobooD, rcAPOOO0ODOOOODOOOODOOO ATMDOO
goobooooobobooboooooboboooo. gobbbooooobob,0o00n

000/00/00000000000000000DLO000D0CODOODOOO0,00000
goboboooooboboooaon.
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53 UUO0OOOOOO

5.3.1 0J0O0o0oboooooobbbboooo

00000 LDADODOOO LLAPOOOOCOOODO,rLAPOOOOOO ObTS/ObCL
gboboboobogoooa.

000,000000000000/Oo0/00b000L0DO0U0OO00DOooOOO, ATM
Ooooog,0bobooboobobobobobooobooooobobo, rLAPOOOODO
oboobooboobooboobgbbon.

5.3.2 IrLAPOUOO0OOO0ODOO0O

ooooo, ObTS/ObCL/ODML 00000 ODOOOOOOODOOODOODOOOOO
obooboboobooboobgbbobobooboo.

Stavid=Pare- Wilk-F-Hi-Ner s action 1= camied ool a: (he nesult of o Dade- Beowess avent, 10 1B s the
first frame in the window it shoeld be sent after waiting the mirmem tarn oround tme. 18 the event s for
reliable dat she fiollowing actions ame canmied ou:

stap-F.flnier

Store[Vs] - dam; Ack[Vs] -~ fake

Lened 12V P

Ve = ¥Wa+ | mul X

wirhnw o= windawbisg

AckRequired = fgls:

Atar-F-imer

BREMNDIVrVsP EWSTL—LMEESH,
HEBIEZINSNrP EWSTL—LEZIET BT T A -

N

RECY Brew gl WNs NP Dhodar- o on RECY
Ty YE=Wr— 1 mewd 8
FTHIE Upsdans Mr Received
[l ] AckReogquired = truc
St FEL parer Featfenen’ coe mne 8
Revw emdzbsse F - Db ok antll
A Peneiag. it Wi = Nr— 1 sl 2
Fegerests Lipdatz Mr Received
= TemeBusy AckReguired o= true
) Spap- IV EI-Fimer
Reev izomid:-Ra NP Dhriar Indicaiion RECY
# Yoo W sl

Us9:00000goooo

gsgbbuguobbuooooboobooooooboooooobod.
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00 (D0D0)000i:vr:vs:POOOOOOOOOODOODOOODOODODODODOO
0,000 ((000)004i:Ns:Nr:PO000000O0OOOOOOOCOOOOOOOOOO
gooooo.

god, bbb uobuoob,0bobbobouoobbo
00000000 i:emd:Ns:Nr:POOOOOOO.

Jododoooooboobbb,0i:end:Ns:Nr:POO0O0O0O0O0OODOOOOOOOO
0000, 000000 ooooog
gooo,o0o0,obMLOOOOOOOOOOOOO rbAPOOOOOOOOOOOOO
gdooooooogo.

00,000000000000000.0bTS00000000000000000
0000000000, 0000000000000. 0000000,0000000
0oo0oooooooo,

(i) 0000

(i) 000000

(i) 000000
0000000000000,000000000000000000000000. 0
000,0000000000000000000000000000.

o000, rLAPOOOOOOOOODOODOOO,D0D00D0ODOOOOOODOOO
OO0 rLAPODOOO0ODOOO0OOODLOO0ODOOODOOOn.
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] 6 [

HEEEN

gogobb,oooobbobbooobbbbooooboboooobb.bbbod
gobobobooobodobuogooboooooboobod.

1) 0000o000oo0o0ooooooooooooo.
2) J00000OO0OODOOoOoOoOoOoooOoOoD.

3) Joooooooooooog.

000 ATMOOOOOOO,00O0bTSO000O0O0O0O0OODODOOOO/00/000
gbobobgbobooobbboobob,bbouobbooobobbouobbogd
gobobobobobbouooodo,gogoobboooobobboooon.

oooobooboobob rcAPOODOOOOODOO,0000DOOOODOO, O
goobogon.

00,000000 O0bTS/ObCLOD0ODOOODOODO,OPMLOOODOOODOODOODO
gobboboodgg,bbogggobbuogoboboooboboobod.
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70

oo

71 00000D00OODOO/O0/000000000000
[ O

00000,00000000000000000000,000000000000
00000,0000000000/00/0000000000000.
ooo,

e LUUOUOUDLODLOUOOOODDOOOODLDODLDODO
e OUUOOUOLOLODOOUOOOODLDOOUOOOODLDOD
e LUUUOODLDOUOOODLDLOOOOODLDDDbODOOODbLODLOO

gogddooouoooobbbbbdo,bboddooooooooobbbobbbn
god. ggb,ogdgbobog,bougobo,obbbooobobooobbodon
goboboooon.

72 UOoUOooogd

gogobbboooboboooa.
obCLOOpoOoooooooo,obCLOOODOOONODO Standard MLOODO OOO

oo,obMLOOOD0OOODOO0O0OOOODOO0ODOO0ODO.
gboopbCLOODbObOOoboooooboboboboooobooD.
googooobogoopCLuooboon
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BEERINVATA

(. M
“C o _,[eﬁjzﬁsimmu:
ObCLav/\—%

0700000000

e LHUUOODLODDOUOOOODLDLOOOOOODO.
e HUUUOOOOLDOOOODLDODOOODLDODDO.

goobog obCLUodl — MLOODODOOOOODODOOoOOoooooooo.

ggbobdobobbooooobbbuoodoooobob,oo,oobobobobbobd
god,gd,bboouogoboobod.
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L] [

gogbobooboobooboobo,gbbogg,buogobboooobobuooob oobboda
goodobogdgdg. g, bbuogobboobbuooobbooobbo boon
gooboogod.

gbbooogob bboogbboobbuoogb,oobboobboodo.bobo
gbood. bbgoogbooobbbboooug gobobbobbobbooooooo

gob.booboodgogaoo.
gboboobuogobduooobodgboogbobgobbogobboobbooboa

gooooooboobod
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L] [

IrLAPO ObCLOOODODOOOO.

—-— IrLAP Procedure
--- IrLAP O OO

-——- JO000ooooood

-——- d000ooooood

event UPEVENT
inherit GENERIC_EVENT
attribute num:Int

end

event UPVALEVENT --—- Q0o000oooooooo
inherit UPEVENT
attribute val:Int

end

event UPMSGEVENT -——- Jo00ooooooooo
inherit UPEVENT
attribute msg:String

end

-———-O0000oooood

event PHEVENT
inherit GENERIC_EVENT
attribute num:Int

end

event PHVALEVENT -— 00000000000
inherit PHEVENT
attribute val:Int

end

event PHTWOVALEVENT -—-Q000o0oooocoooooo
inherit PHVALEVENT
attribute va2:Int

end

event PHMSGEVENT -——- Jo00ooooooooo
inherit PHEVENT
attribute msg:String

end

event PHVALMSGEVENT -——-0000000ooooooono
inherit PHVALEVENT
attribute msg:String

end

event PHMSGVAL2EVENT --- 00000000 O0OOOOCOOOOO
inherit PHTWOVALEVENT
attribute msg:String

end

-—- IrLAPO 000000000
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event INEVENT
inherit GENERIC_EVENT
attribute num:Int

end

event INVALEVENT -— 00000000000
inherit INEVENT
attribute val:Int

end

event INMSGEVENT -——- dO000o0ooooooobooOon
inherit INEVENT
attribute msg:String

end

event INBOOLEVENT --- Boolean OO O OOOOOO
inherit INEVENT
attribute bool:Bool

end

--- 0000000 oooo

--—- 00000000
--- Field for Station User-IrLAP: OO0 (DOOODODOODO)O IrLAPOOODOODOO
field UPPER

event Discovery_Request ---(discovery)

:UPVALEVENT

event Connect_Request, ---(sniff0pen,connection)
Data_Request, ---(NRMP,NRMS)
Discovery_Confirm, ---(discovery)
Disconnect_Indication, ---(1linkInit,NRMP,NRMS)
Discovery_Indication, ---(discovery,sniffOpen)
Reset_Indication, --—(NRMP,NRMS)
GR_ConnectionAdr, ---(sniff0pen)
string ---(Common) OO DO OOOO

:UPMSGEVENT

event link_initialize, ---(linkInit) OO OO0 /00
link_shutdown, ---(1linkInit) OO0 O
Sniff_Request, ---(sniff0pen)
Disconnect_Request, ---(connection,NRMP,NRMS)
Reset_Request, --—(NRMP,NRMS)
Pending_Requests, ---(NRMS)
Pending_Data_Requests, ---(NRMS)
No_Pending_Data_Requests, ---(NRMS)
Connect_Confirm, ---(connection)
Reset_Confirm, ---(NRMP,NRMS)
Connect_Response, ---(connection)
Reset_Response, --—(NRMP,NRMS)
Connect_Indication, ---(sniff0Open,connection)
Disconnect_Indication, ---(sniffOpen,connection)
Data_Indication, ---(NRMP,NRMS)
Unidata_Indication, --—(NRMP,NRMS)
Reset_Indication, --—(NRMP)
Status_Indication, --—(NRMP)
Discovery_Collision, ---(discovery)
Response_Collision, ---(discovery)
Enable_receiver_etc, ---(sniff0pen)
Disable_receiver_etc, ---(sniffOpen)
Prepare_FRMR_Response  ---(NRMS)

:UPEVENT

end
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--- Field for Service User-IrLAP: IrDAOOO0O IrLAPOOOOOONO
field PHYSICAL

event Recv, Send ---(discovery,sniffOpen,connection, NRMP ,NRMS)

:PHMSGEVENT

event Recv_Con, ---(sniff0Open,connection)
Send_Con ---(sniffOpen,connection)

:PHMSGVAL2EVENT

event Recv_dCmd, ---(discovery,sniffQOpen)
Send_dCmd ---(discovery)

:PHTWOVALEVENT

event Recv_dRsp, ---(discovery,sniffOpen)
Recv_sRsp, ---(sniff0pen)
Send_dRsp, ---(discovery,sniffOpen)
Send_sRsp —---(sniff0Open)

:PHVALMSGEVENT

event physical_layer_down ---(linkInit) 0O ODODOODOO

:PHEVENT

end

--- Field for IrLAP InnerEvent: IrLAPOUOO0OOO0OOOOOOO
field LOCAL

event Pending_ Busy_Cleared ---(NRMS)
: INBOOLEVENT
event slot_timer, ---(discovery)
query_timer, ---(discovery,sniffOpen)
sense_timer, ---(sniff0pen)
sniff_timer, ---(sniff0pen)
sleep_timer, ---(sniff0pen)
P_timer, ---(sniff0pen,NRMP)
F_timer, ---(connection,NRMP)
WD_timer, --—(connection)
countup ---(Common inner)
: INMSGEVENT
event close_connection, ---(1inkInit) 00O O0O0OOOOOO0O
ADC_Parameters, -——(1linkInit ,NRMP)
AC_Parameters, ---(sniff0Open,connection)
NC_Parameters, ---(sniff0pen,connection)
Discovery_Abort_Condition, ---(discovery)
Parform_Random_Backoff, ---(connection)
Local_Busy_Detected, ---(NRMP)
Local_Busy_Cleared, ---(NRMP)
WMT_Delay, ---(NRMP)
RB_Data, -——(NRMP)
Update_Nr_Received, ---(NRMP)
resend_rejected_frames ---(NRMP)
: INEVENT
end

-—- ggoooooboo oboo

--—- 0Oooooa
class IRLAP
field 0:UPPER; P:PHYSICAL; L:LOCAL
attribute num, dest, ca, sa, N1, N2, N3, NA, mode,
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S, s, slot, maxSlot, slotCount,

window, windowSize, Vr, Vs, retryCount :Int
attribute Store_Vs :String
attribute frameSent, mediaBusy, remoteBusy,

Ack_Vs, AckRequired, xzmitFlag :Bool
state OFFLINE, -—— QOgoooogo

NDM, -—-000oooo
QUERY, REPLY, --- (discovery,Sniffing)
POUT, SNIFF, SLEEP, --- (Sniffing)
SCONN, SSETUP, --- (Connect to Sniffer)
CONN, SETUP, --- (Sniffing,connection)
XMIT, --- (NRMP,NRMS)
RECV, --- (NRMP,NRMS)
RESET_CHECK, RESET, --- (NRMP,NRMS)
BUSY, BUSY_WAIT, --- (NRMP,NRMS)
RESET_WAIT, --- (NRMP)
PCLOSE, PCLOSE_WAIT,--- (NRMP)
ERROR, SCLOSE --- (NRMS)

transition

start is

source init
do window:=6;
slot:=0; --- Generate_Random_Time_Slot(S,s)
mode :=0 -—-Jo00ooooooon
destination OFFLINE
end

--- O0000000000DO000000
--- 0ffline State: OO OOOO
init10 is
source OFFLINE
input 0.link_initialize
when 0.link_initialize.num=num -—-000b0bObbObbooaoon
do O0O.string.msg:="IrLAP layer Online" --- 0000000000
destination NDM
output {L.ADC_Parameters,
0.string}
end

--- Online State: OO OOOOO
init20 is
source NDM

input 0.link_shutdown --——- 000odgoobobobooga
when 0.link_shutdown.num=num -—— 0o00ooooboboobboooon
do 0.Disconnect_Indication.msg:="aborted";
0.string.msg:="IrLAP layer O0ffline" --- DO 0O OO OOOO0O
destination OFFLINE
output {0.Disconnect_Indication, -——abort JUOODOUO0OOOODODO
L.close_connection,
0.string}
end
init21 is
source NDM
input P.physical_layer_down ---Q000b0o0oboboobo
when P.physical_layer_down.num=num -——-gogoooboooooood
do 0.Disconnect_Indication.msg:="aborted";
0.string.msg:="IrLAP layer O0ffline" --- 0000000000
destination OFFLINE
output {0.Disconnect_Indication, -——abort O OD0OOODOOOOO
L.close_connection,
0.string}
end

-——- goobooobooobbobobono ogoa
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--- Discovery Procedure
--- gooon
--- for NDM
disc10 is
source NDM
input 0.Discovery_Request
when mode=0 --- DUO0O0O0O0OOOOOODOO
and 0.Discovery_Request.num=num
and mediaBusy=false
do S:=0.Discovery_Request.val;
maxSlot:=(0.Discovery_Request.val-1);
slotCount:=0;
P.Send_dCmd.val:=0.Discovery_Request.val-1; --- maxSlot
P.Send_dCmd.va2:=0; -—- slotCount
L.slot_timer.num:=num;
L.slot_timer.msg:="start";
mode:=1; --- 000000000
O.string.msg:="log is empty"
destination QUERY
output {P.Send_dCmd,
L.slot_timer,
0.string}
end
discill is
source NDM
input 0.Discovery_Request
when mode=0 --- JO0O0O0OOOODOOODOO
and 0.Discovery_Request.num=num
and mediaBusy=true
do 0.Discovery_Indication.msg:="media_busy"
destination NDM
output 0.Discovery_Indication
end
discl2a is
source NDM
input P.Recv_dCmd
---when P.Recv_dCmd.val=S
--- and P.Recv_dCmd.va2=s
--- and slot=s
when mode=0 --- JUO0O0O0O0OOOO0OO0OO0OOO0
and slot=P.Recv_dCmd.va2 --- slotl SO sUOUO0OO0OO0OOO0OOOOODODOO
do P.Send_dRsp.val:=NA;
P.Send_dRsp.msg:="info";
L.query_timer.num:=num;
L.query_timer.msg:="start";
frameSent:=true;
mode:=1 - gogoooobooo
destination REPLY
output {P.Send_dRsp,
L.query_timer}
end
disc12b is
source NDM
input P.Recv_dCmd
---when P.Recv_dCmd.val=S
--- and P.Recv_dCmd.va2=s
--- and slot/=s
when mode=0 --- JO0O0O0OOOODOOODOO
and slot/=P.Recv_dCmd.va2 ---slotU SO sO00O0O0O0OO0OO0OOOODOOO
do L.query_timer.num:=num;
L.query_timer.msg:="start";
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frameSent:=false;
mode ;=1 -——-gooboooood
destination REPLY
output L.query_timer
end

--- for QUERY
disc20 is
source QUERY
input L.slot_timer
when mode=1 -——-0ooooa
and L.slot_timer.num=num
and L.slot_timer.msg="expired"
and slotCount<maxSlot
do P.Send_dCmd.val:=maxSlot;
P.Send_dCmd.va2:=slotCount+1;
L.slot_timer.num:=num;
L.slot_timer.msg:="start";
slotCount:=slotCount+1
destination QUERY
output {P.Send_dCmd,
L.slot_timer}
end
disc21 is
source QUERY
input L.slot_timer
when mode=1 --——-0ooooa
and L.slot_timer.num=num
and L.slot_timer.msg="expired"
and (slotCount>maxSlot or slotCount=maxSlot)
do P.Send.msg:="End-Discovery-XID-Cmd";
0.Discovery_Confirm.msg:="log" --- O0OOO
destination NDM
output {0.Discovery_Confirm,
P.Send}
end
disc22 is
source QUERY
input L.Discovery_Abort_Condition
when mode=1 --——-0ooooa
do P.Send.msg:="End_Discovery_XID_Cmd";
.Discovery_Indication.msg:="aborted";
.slot_timer.num:=num;
.slot_timer.msg:="stop"
destination NDM
output {0.Discovery_Indication,
P.Send,
L.slot_timer}

H o

end
disc23 is
source QUERY
input P.Recv_dRsp
when mode=1 --- OOO0O0O0O
do sa:=P.Recv_dRsp.val; --—- 0000000000 goooon
0.string.msg:="log:=log or {<sa,info>}"
destination QUERY
output 0.string
end
disc24 1is
source QUERY
input 0.Response_Collision
when mode=1 --- 0O0O0O0O0O
and 0.Response_Collision.num=num
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do O0O.string.msg:="log:=log or {<Empty, Empty>}"
destination QUERY
output 0.string
end
disc25 1is
source QUERY
input P.Recv
when mode=1 --- O0O0O0O0O0
and P.Recv.msg="x:x:x:x"
destination QUERY
end

--- for REPLY
disc30 is
source REPLY
input P.Recv_dCmd
---when P.Recv_dCmd.val=S
--- and P.Recv_dCmd.va2=s
--- and (s>slot or s=slot)
when mode=1 --- J0O0O0OOO
and (slot<P.Recv_dCmd.va2 or slot=P.Recv_dCmd.va2)
and frameSent=false
do P.Send_dRsp.val:=NA;
P.Send_dRsp.msg:="info";
frameSent :=true
destination REPLY
output P.Send_dRsp
end
disc31 is
source REPLY
input P.Recv
when mode=1 --- J0O0O0OOO
and P.Recv.msg="End-Discovery-XID-Cmd"
do 0.Discovery_Indication.msg:="remote";
.query_timer.num:=num;
.query_timer.msg:="stop"
destination NDM
output {0.Discovery_Indication,
L.query_timer}
end
disc32 is
source REPLY
input L.query_timer
when mode=1 --- J0O0O0OOO
and L.query_timer.num=num

and L.query_timer.msg="expired"

do mode:=0
destination NDM
end

disc33 is
source REPLY
input P.Recv
when mode=1 -—— 0O00oooo
and P.Recv.msg="x:x:x:x"
destination REPLY
end
-—- Q00000 oooao

--- Sniff Open OO0 Sniffing
--- for NDM
snifl0a is

source NDM

input 0.Sniff_Request
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when mode=0 --- DUO0O0O0O0OOO0OO0OO0OO

and 0.Sniff_Request.num=num

do L.sense_timer.num:=num;
L.sense_timer.msg:="start";
mediaBusy:=false;
mode:=2  --- Sniffing [l

destination POUT

output L.sense_timer

end

--- for POUT
snif20 is
source POUT
input L.sense_timer
when mode=2 --- Sniffing [
and L.sense_timer.num=num
and L.sense_timer.msg="expired"
and mediaBusy=false
do P.Send_sRsp.val:=NA;
P.Send_sRsp.msg:="info";
L.sniff_timer.num:=num;
L.sniff_timer.msg:="start"
destination SNIFF
output {P.Send_sRsp,
L.sniff_timer}
end
snif2l is
source POUT
input L.sense_timer
when mode=2  --- Sniffing[]
and L.sense_timer.num=num
and L.sense_timer.msg="expired"
and mediaBusy=true
do L.sleep_timer.num:=num;
L.sleep_timer.msg:="start"
destination SLEEP
output {0.Disable_receiver_etc,
L.sleep_timer}
end
snif22 is
source POUT
input P.Recv_dCmd
---when P.Recv_dCmd.val=S
--- and P.Recv_dCmd.va2=s
--- and slot=s
when mode=2 --- Sniffing [
and slot=P.Recv_dCmd.va2 =---slotU SO sO0O00O0O0O00O0O0O0OOOOOO
do P.Send_dRsp.val:=NA;
P.Send_dRsp.msg:="info";
L.query_timer.num:=num;
L.query_timer.msg:="start";
frameSent:=true
destination REPLY
output {P.Send_dRsp,
L.query_timer}
end
snif23 is
source POUT
input P.Recv_dCmd
---when P.Recv_dCmd.val=S
--- and P.Recv_dCmd.va2=s
--- and slot/=s
when mode=2  --- Sniffing []
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and slot/=P.Recv_dCmd.va2 --- slotU SO sO0O00O00O0ODODOOOOOOOO
do L.query_timer.num:=num;
L.query_timer.msg:="start";
frameSent:=false
destination REPLY
output L.query_timer
end
snif24 is
source POUT
input P.Recv
when mode=2 --- Sniffing [
and P.Recv.msg="x:x:x:x"
destination POUT
end

--- for SNIFF
snif30a is
source SNIFF
input P.Recv_dCmd
---when P.Recv_dCmd.val=S
--- and P.Recv_dCmd.va2=s
--- and slot=s
when slot=P.Recv_dCmd.va2
do P.Send_dRsp.val:=NA;
P.Send_dRsp.msg:="info";
L.query_timer.num:=num;
L.query_timer.msg:="start";
frameSent:=true
destination REPLY
output {P.Send_dRsp,
L.query_timer}
end
snif30b is
source SNIFF
input P.Recv_dCmd
---when P.Recv_dCmd.val=S
--- and P.Recv_dCmd.va2=s
--- and slot/=s
when slot/=P.Recv_dCmd.va2
do L.query_timer.num:=num;
L.query_timer.msg:="start";
frameSent:=false
destination REPLY
output L.query_timer
end
snif31 is
source SNIFF
input P.Recv_Con
when P.Recv_Con.msg="u:snrm:cmd:P"
do mode:=4;
ca:=P.Recv_Con.val;
dest:=P.Recv_Con.va2
destination CONN
output 0.Connect_Indication
end
snif32 is
source SNIFF
input L.sniff_timer
when L.sniff_timer.num=num
and L.sniff_timer.msg="expired"
do L.sleep_timer.num:=num;
L.sleep_timer.msg:="start"
destination SLEEP
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output {0.Disable_receiver_etc,
L.sleep_timer}
end
snif33 is
source SNIFF
input P.Recv
when P.Recv.msg="x:x:x:x"
destination SLEEP
end

--- for SLEEP
snif40 is
source SLEEP
input L.sleep_timer
when L.sleep_timer.num=num
and L.sleep_timer.msg="expired"
do L.sense_timer.num:=num;
L.sense_timer.msg:="start";
mediaBusy:=false
destination POUT
output {0.Enable_receiver_etc,
L.sense_timer}
end

--- for REPLY
snifb0 is
source REPLY
input P.Recv_dCmd
---when P.Recv_dCmd.val=S
--- and P.Recv_dCmd.va2=s
--- and (s>slot or s=slot)
when mode=2 --- sniffing 1000
and (slot<P.Recv_dCmd.va2 or slot=P.Recv_dCmd.va2)
and frameSent=false
do P.Send_dRsp.val:=NA;
P.Send_dRsp.msg:="info";
frameSent:=true
destination REPLY
output P.Send_dRsp
end
sniffbl is
source REPLY
input P.Recv
when mode=2 --- sniffing 1000
and P.Recv.msg="End-Discovery-XID-Cmd"
do 0.Discovery_Indication.msg:="remote";
.query_timer.num:=num;
.query_timer.msg:="stop";
.sense_timer.num:=num;
.sense_timer.msg:="start"
destination POUT
output {0.Discovery_Indication,
L.query_timer,
L.sense_timer}
end
sniffb2 is
source REPLY
input L.query_timer
when mode=2 --- sniffing 000
and L.query_timer.num=num
and L.query_timer.msg="expired"
do L.sense_timer.num:=num;
L.sense_timer.msg:="start"

|l B e
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destination POUT
output L.sense_timer
end
sniffb3 is
source REPLY
input P.Recv
when mode=2 --- sniffing 1000
and P.Recv.msg="x:x:x:x"
destination REPLY
end

--- Sniff Open U [0 Connect to Sniffer
--- for NDM
snif10b is
source NDM
input P.Recv_sRsp
when mode=0 --- O0O0O00O0O0O00O0OO
do 0.Discovery_Indication.msg:="sniff";
sa:=P.Recv_sRsp.val
destination NDM
output 0.Discovery_Indication
end
snifl0c is
source NDM
input 0.Connect_Request
when mode=0 --- DUO0O0O0O0OO0O0OOO0OO
and O0.Connect_Request.num=nun
and 0.Connect_Request.msg="sniff"
do mode:=3 --- Connect to Sniffer
destination SCONN
end

-—-- for SCONN
snif60 is
source SCONN
input P.Recv_sRsp
when mode=3 -—- Connect to Sniffer [J
do ca:=NA+1;
P.Send_Con.msg:="u:snrm:cmd:P";
P.Send_Con.val:=NA+1;
P.Send_Con.va2:=NA;
L.P_timer.num:=num;
L.P_timer.msg:="start"
destination SSETUP
output {P.Send_Con,
L.P_timer}
end
snif6l is
source SCONN
input P.Recv
when mode=3 --- Connect to Sniffer [
and P.Recv.msg="x:x:x:x"
destination SCONN
end

--- for SSETUP
snif70 is
source SSETUP
input L.P_timer
when L.P_timer.num=num
and L.P_timer.msg="expired"
do 0O.Disconnect_Indication.msg:="disconnect";
mode:=0 --- O0O00OO0O0OOO0OOOO
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destination NDM
output 0.Disconnect_Indication
end
snif71 is
source SSETUP
input P.Recv
when P.Recv.msg="u:ua:rsp:F"
do P.Send.msg:="s:rr:cmd:P";
L.P_timer.num:=num;
L.P_timer.msg:="restart";

mode:=10; -— QOoooono
window:=windowSize;

Vr:=0;

Vs:=0;

retryCount:=0;
remoteBusy:=false

destination XMIT

output {0.Connect_Confirm,

P.Send,

L.P_timer,
L.AC_Parameters,
L.NC_Parameters}

end
snif72 is

source SSETUP

input P.Recv

when P.Recv.msg="u:dm:rsp:F"

do O0.Disconnect_Indication.msg:="disconnect";

L.P_timer.num:=num;

L.P_timer.msg:="stop";

mode :=0 -——- Joooooooodo
destination NDM

output {0.Disconnect_Indication,

L.P_timer}
end
snif73 is
source SSETUP
input P.Recv
when P.Recv.msg="x:x:x:x"
destination SSETUP
end
--- Sniff Open U0 OOOO

-——-do0oobooooooon
-—-- for NDM
connl0 is

source NDM

input 0.Connect_Request

when (mode=1 or mode=2) --- DO O0OOODO sniffing000O00OOOOO

and O0.Connect_Request.num=nun

and 0.Connect_Request.msg="sa"

and mediaBusy=false

do ca:=NA+1;

dest:=sa;
P.Send_Con.msg:="u:snrm:cmd:P";
P.Send_Con.val:=NA+1; --- ca
P.Send_Con.va2:=sa; --- dest

L.F_timer.num:=num;
L.F_timer.msg:="start";
mode:=4; --- Connection [
retryCount :=0

destination SETUP

---U0sall0000000O0O0DOODOOOO
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output {P.Send_Con,
L.F_timer}
end
---connll is
--- source NDM
--- input 0.Connect_Request
--- when (mode=1 or mode=2) --- JOOOOOD sniffingO0 00 O0000ODODO
- and 0.Connect_Request.num=num
--— and 0.Connect_Request.msg="sa"
--- and mediaBusy=false
--— do O0.Disconnect_Indication.msg:="disconnect";
- mode:=0 --- OO0OO0O0OOO0O0OO0OO
--- destination NDM
--- output 0.Disconnect_Indication
--—end
connl2 is
source NDM
input 0.Connect_Request

when (mode=1 or mode=2) --- DO O0OOODO sniffing000O00OOOOO
and 0.Connect_Request.num=num
and 0.Connect_Request.msg="sa" --- 00 sal00O0O0O000O0O0OO0O0OOO0O

and mediaBusy=true
do 0.Disconnect_Indication.msg:="disconnect";
mode : =0 -——-gbogoboabooaao
destination NDM
output 0.Disconnect_Indication
end
connl3d is
source NDM
input P.Recv_Con

when (mode=1 or mode=2) --- DO O0OO00ODO sniffing0000 000000
and P.Recv_Con.msg="u:snrm:cmd:P"
do mode:=4; --— Connection [J

ca:=P.Recv_Con.val;
dest:=P.Recv_Con.va2
destination CONN
output 0.Connect_Indication
end
connl4 is
source NDM
input P.Recv
when (mode=1 or mode=2) --- DO O0OO00ODO sniffing0000 000000
and P.Recv.msg="u:test:cmd:P"
do P.Send.msg:="u:test:rsp:F"
destination NDM
output P.Send
end
connlb is
source NDM
input P.Recv
when (mode=1 or mode=2) --- DO O0ODOODO sniffing000000O0ODO0O
and P.Recv.msg="x:x:cmd:P"
do P.Send.msg:="u:dm:rsp:F"
destination NDM
output P.Send
end
connlé is
source NDM
input P.Recv
when (mode=1 or mode=2) --- OO0 OO0ODOD sSniffing 000000000
and P.Recv.msg="x:x:x:x"
destination NDM
end
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—--- for CONN
conn20 is
source CONN
input 0.Connect_Response
when mode=4 --- Connection [
and 0.Connect_Response.num=num
do P.Send.msg:="u:ua:rsp:F";
L.WD_timer.num:=num;
L.WD_timer.msg:="start";

mode :=20; -— QOoooono
window:=windowSize;

Vr:=0;

Vs:=0;

retryCount:=0;
remoteBusy:=false
destination XMIT
output {P.Send,
L.WD_timer,
L.NC_Parameters,
L.AC_Parameters}
end
conn2l is
source CONN
input 0.Disconnect_Request
when mode=4 --- Connection [
and 0.Disconnect_Request.num=num
do P.Send.msg:="u:dm:rsp:F";
mode:=0 --- OO0O0OOOO0OO0OO
destination NDM
output P.Send
end
conn22 is
source CONN
input P.Recv
when mode=4 --- Connection [
and P.Recv.msg="x:x:x:x"
destination CONN
end

-—- for SETUP
conn30 is
source SETUP
input L.F_timer
when mode=4 --- Connection [
and L.F_timer.num=num
and L.F_timer.msg="expired"
and retryCount<N3
do P.Send_Con.msg:="u:snrm:cmd:P";
P.Send_Con.val:=ca;
P.Send_Con.va2:=dest;
L.F_timer.msg:="start";
retryCount:=retryCount+1
destination SETUP
output {P.Send_Con,
L.F_timer,
L.Perform_Random_Backoff}
end
conn3l is
source SETUP
input L.F_timer
when mode=4 --— Connection [J
and L.F_timer.num=num
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and L.F_timer.msg="expired"
and (retryCount>N3 or retryCount=N3)
do 0.Disconnect_Indication.msg:="disconnect";
mode :=0 --—- 0O00oo0O0oooooon
destination NDM
output 0.Disconnect_Indication
end
conn32 is
source SETUP
input P.Recv_Con
when mode=4 --- Connection [
and P.Recv_Con.msg="u:snrm:cmd:P"
and P.Recv_Con.va2>NA
do P.Send.msg:="u:ua:rsp:f";
L.F_timer.num:=num;
L.F_timer.msg:="stop";
L.WD_timer.num:=num;
L.WD_timer.msg:="start";

mode :=20; -——-O0o0ogoog
window:=windowSize;

Vr:=0;

Vs:=0;

retryCount:=0;
remoteBusy:=false
destination XMIT
output {0.Connect_Confirm,
P.Send,
L.F_timer,
L.WD_timer,
L.NC_Parameters,
L.AC_Parameters}
end
--—conn33 is
--- source SETUP
--- input P.Recv_Con
--- when mode=4 --- Connection [J
--- and P.Recv_Con.msg="u:snrm:cmd:P"
-—= and P.Recv_Con.val>NA
--— destination SETUP
-—-end
conn34 is
source SETUP
input P.Recv_Con
when mode=4 --— Connection [J
and P.Recv_Con.msg="u:snrm:cmd:P"
and P.Recv_Con.va2<NA
destination SETUP
end
conn3b is
source SETUP
input P.Recv
when mode=4 --- Connection [
and P.Recv.msg="u:ua:rsp:F"
do P.Send.msg:="s:rr:cmd:P";
L.F_timer.num:=num;
L.F_timer.msg:="restart";

mode:=10; -——-O0o0ogoog
window:=windowSize;

Vr:=0;

Vs:=0;

retryCount:=0;
remoteBusy:=false
destination XMIT
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output {0.Connect_Confirm,
P.Send,
L.F_timer,
L.NC_Parameters,
L.AC_Parameters}
end
conn36 is
source SETUP
input P.Recv
when mode=4  --- Connection U
and P.Recv.msg="u:dm:rsp:x"
do 0.Disconnect_Indication.msg:="disconnect";
L.F_timer.num:=num;
L.F_timer.msg:="stop";
mode:=0 --- O0O0O0OO0O0OOOOOO
destination NDM
output {0.Disconnect_Indication,
L.F_timer}
end
conn37 is
source SETUP
input P.Recv
when mode=4  --- Connection U
and P.Recv.msg="u:disc:cmd:x"
do 0O.Disconnect_Indication.msg:="disconnect";
L.F_timer.num:=num;
L.F_timer.msg:="stop";
mode:=0 --- OO0O0OOOO0OO0OO
destination NDM
output {0.Disconnect_Indication,
L.F_timer}
end
conn38 is
source SETUP
input P.Recv
when mode=4 --- Connection [
and P.Recv.msg="x:x:x:x"
destination SETUP
end
---goOo0o0oob0oboooonbo boobo

-——0b0aobgoaod
--- for XMIT
npall is
source XMIT
input 0.Data_Request
when mode=10 --- O0OO0O0OOO
and 0.Data_Request.num=num
and 0.Data_Request.msg="DATA"
and remoteBusy=false
and window>1
do P.Send.msg:="i:cmd:Nr:Ns:P";
--- P.Send.msg:="1i:cmd:Nr:Ns:P:data";
L.P_timer.num:=num;
L.P_timer.msg:="stop";
L.F_timer.num:=num;
L.F_timer.msg:="start";
Store_Vs:="data";
Ack_Vs:=false;
Vs:=(Vs+1) mod 8;
AckRequired:=false;
window:=windowSize
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destination RECV
output {P.Send,
L.P_timer,
L.F_timer}
end
---npalla is
--- source XMIT
--- input 0.Data_Request
--- when mode=10 --- 00O0O0O0O0O
--- and 0.Data_Request.num=num
--- and 0.Data_Request.msg="UDATA"
- and remoteBusy=false
--- and window>1
--- and AckRequired=true
--— do P.Send.msg:="u:ui:cmd: :not P";
--—— P.Send.msg:="u:ui:cmd: :not P:data";
-—= L.P_timer.num:=num;
--- L.P_timer.msg:="stop";
-—= L.F_timer.num:=num;
--- L.F_timer.msg:="start";
--- AckRequired:=false;
--- window:=windowSize
--- destination RECV
--- output {P.Send,

-—= L.P_timer,
-—= L.F_timer}
-—-end

npallb is

source XMIT
input 0.Data_Request
when mode=10 --- O0OO0O0OOO
and 0.Data_Request.num=num
and O0.Data_Request.msg="UDATA"
and remoteBusy=false
and window>1
and AckRequired=true
do P.Send.msg:="s:rr:cmd:Nr:P";
.P_timer.num:=num;
.P_timer.msg:="stop";
F_timer.num:=num;
F_timer.msg:="start";
AckRequired:=false;
window:=windowSize
destination RECV
output {P.Send,

|l el e

L.P_timer,
L.F_timer}
end
npal2 is

source XMIT
input 0.Data_Request
when mode=10 --- 00O0O0O00O
and 0.Data_Request.num=num
and 0.Data_Request.msg="UDATA"
and remoteBusy=false
and window>1
and AckRequired=false
do P.Send.msg:="u:ui:cmd:P";
--- P.Send.msg:="u:ui:cmd:P:data";
L.P_timer.num:=num;
L.P_timer.msg:="stop";
L.F_timer.num:=num;
L.F_timer.msg:="start";

62



window:=windowSize
destination RECV
output {P.Send,
L.P_timer,
L.F_timer}
end
---npal3 is
--- source XMIT
--- input 0.Data_Request
--- when mode=10 --- O00O0O0O00O
--- and 0.Data_Request.num=num
--- and 0.Data_Request.msg="DATA"
- and remoteBusy=false
--- and window>1
--- do P.Send.msg:="i:cmd:Nr:Ns:not P"
--— P.Send.msg:="i:cmd:Nr:Ns:not P:data";
--— Store_Vs:="data";
--— Ack_Vs:=false;
--— Vs:=(Vs+1) mod 8;
--- AckRequired:=false;
--- window:=window-1
--- destination XMIT
--- output P.Send
---end
---npal4 is
--- source XMIT
--- input 0.Data_Request
--- when mode=10 --- O00O0O0O0O0O
--- and 0.Data_Request.num=num
--- and 0.Data_Request.msg="UDATA"
- and remoteBusy=false
--- and window>1
--- do P.Send.msg:="u:ui:cmd:not P";
--— P.Send.msg:="u:ui:cmd:not P:data";
--- window:=window-1
--- destination XMIT
--— output P.Send
---end
npalb is
source XMIT
input 0.Data_Request
when mode=10 --- O0OO0O0OOO
and 0.Data_Request.num=num
and 0.Data_Request.msg="DATA"
and remoteBusy=false
and window=1
do P.Send.msg:="i:cmd:Nr:Ns:P";
--- P.Send.msg:="i:cmd:Nr:Ns:P:data";
L.P_timer.num:=num;
L.P_timer.msg:="stop";
L.F_timer.num:=num;
L.F_timer.msg:="start";
Store_Vs:="data";
Ack_Vs:=false;
Vs:=(Vs+1) mod 8;
AckRequired:=false;
window:=windowSize
destination RECV
output {P.Send,
L.P_timer,
L.F_timer}
end
---npal6a is
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--- source XMIT
--- input 0.Data_Request
--- when mode=10 --- 00O0O0O0OO
--- and 0.Data_Request.num=num
--- and 0.Data_Request.msg="UDATA"
- and remoteBusy=false
--- and window=1
--- and AckRequired=true
--— do P.Send.msg:="u:ui:cmd: :not P";
--—— P.Send.msg:="u:ui:cmd: :not P:data";
-—= L.P_timer.num:=num;
--- L.P_timer.msg:="stop";
-—= L.F_timer.num:=num;
--- L.F_timer.msg:="start";
--- AckRequired:=false;
--- window:=windowSize
--- destination RECV
--- output {P.Send,
-—= L.P_timer,
--- L.F_timer}
--—end
npal6b is
source XMIT
input 0.Data_Request
when mode=10 --- 000000
and 0.Data_Request.num=num
and O0.Data_Request.msg="UDATA"
and remoteBusy=false
and window=1
and AckRequired=true
do P.Send.msg:="s:rr:cmd:Nr:P";
L.P_timer.num:=num;
L.P_timer.msg:="stop";
L.F_timer.num:=num;
L.F_timer.msg:="start";
AckRequired:=false;
window:=windowSize
destination RECV
output {P.Send,
L.P_timer,
L.F_timer}
end
npal?7 is
source XMIT
input 0.Data_Request
when mode=10 --- 00O0O0O00O
and 0.Data_Request.num=num
and 0.Data_Request.msg="UDATA"
and remoteBusy=false
and window=1
and AckRequired=false
do P.Send.msg:="u:ui:cmd:P";
--- P.Send.msg:="u:ui:cmd:P:data";
L.P_timer.num:=num;
L.P_timer.msg:="stop";
L.F_timer.num:=num;
L.F_timer.msg:="start";
window:=windowSize
destination RECV
output {P.Send,
L.P_timer,
L.F_timer}
end
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npal8 is
source XMIT
input O0.Reset_Request
when mode=10 --- 000000
and O0.Reset_Request.num=num
do P.Send.msg:="u:snrm:cmd:P";
L.P_timer.num:=num;
L.P_timer.msg:="stop";
L.F_timer.num:=num;
L.F_timer.msg:="start";
retryCount:=0
destination RESET
output {P.Send,
L.P_timer,
L.F_timer,
L.WMT_Delay}
end
npal9 is
source XMIT
input 0.Disconnect_Request
when mode=10 --- 00O0O0O00O
and 0.Disconnect_Request.num=num
do P.Send.msg:="u:disc:cmd:P";
L.P_timer.num:=num;
L.P_timer.msg:="stop";
L.F_timer.num:=num;
L.F_timer.msg:="start";
retryCount:=0
destination PCLOSE
output {P.Send,
L.P_timer,
L.F_timer,
L.WMT_Delay,
L.RB_Data}
end
npa20 is
source XMIT
input L.Local_Busy_Detected
when mode=10 --- 00O0O0O00O
destination BUSY
end
npa2l is
source XMIT
input L.P_timer
when mode=10 --- 00O0O0O00O
and L.P_timer.num=num
and L.P_timer.msg="expired"
do P.Send.msg:="s:rr:Nr:P";
L.F_timer.num:=num;
L.F_timer.msg:="start"
destination RECV
output {P.Send,
L.F_timer}
end

--- for RECV
npb10 is
source RECV
input P.Recv
when mode=10 --- 000000
and P.Recv.msg="i:rsp:Ns:Nr:not F"
do Vr:=(Vr+1) mod 8;
AckRequired:=true
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destination RECV
output {0.Data_Indication,
L.Update_Nr_Received}
end
npbll is
source RECV
input P.Recv
when mode=10 --- 000000
and P.Recv.msg="i:rsp:Ns:Nr:F"
do L.F_timer.num:=num;
L.F_timer.msg:="stop";
L.P_timer.num:=num;
L.P_timer.msg:="start";
Vr:=(Vr+1) mod 8;
AckRequired:=true
destination XMIT
output {0.Data_Indication,
L.F_timer,
L.P_timer,
L.Update_Nr_Received}
end
npbl2 is
source RECV
input P.Recv
when mode=10 --- 000000
and P.Recv.msg="u:ui:rsp:not F"
destination RECV
output 0.Unidata_Indication
end
npbil3 is
source RECV
input P.Recv
when mode=10 --- 00O0O0O00O
and P.Recv.msg="u:ui:rsp:F"
do L.F_timer.num:=num;
.F_timer.msg:="stop";
.P_timer.num:=num;
.P_timer.msg:="start"
destination XMIT
output {0.Unidata_Indication,
L.F_timer,
L.P_timer}
end
npbi4d is
source RECV
input P.Recv
when mode=10 --- 000000
and P.Recv.msg="u:xid:rsp:F"
do P.Send.msg:="s:rr:cmd:P:Nr";
L.F_timer.num:=num;
L.F_timer.msg:="start";
AckRequired:=false
destination RECV
output {P.Send,
L.F_timer,
L.WMT_Delay}
end
npb1b is
source RECV
input P.Recv
when mode=10 --- OUOO0OOOO
and P.Recv.msg="i:rsp:uNs:Nr:not F"
destination RECV

[l
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output L.Update_Nr_Received
end
npb16 is
source RECV
input P.Recv
when mode=10 --- O0OO0OOOO
and P.Recv.msg="i:rsp:uNs:Nr:F"
do P.Send.msg:="s:rr:cmd:P:Nr";
L.F_timer.num:=num;
L.F_timer.msg:="start";
AckRequired:=false
destination RECV
output {P.Send,
L.F_timer,
L.Update_Nr_Received,
L.WMT_Delay}

end

---npbl7 is

--- source RECV

--- input P.Recv

--- when mode=10 --- 00O0O0O0OO
--- and P.Recv.msg="i:rsp:ulNs:Nr:F"
--—— do P.Send.msg:="s:rej:cmd:P:Nr";
-—= L.F_timer.num:=num;

--- L.F_timer.msg:="start";

--- AckRequired:=false

--— destination RECV

--- output {P.Send,

-—= L.F_timer,

-—= L.Update_Nr_Received,
-—= L.WMT_Delay?}

---end

npb18 is

source RECV
input P.Recv
when mode=10 --- O0OO0O0OOO
and P.Recv.msg="i:rsp:Ns:uNr:F"
do L.F_timer.num:=num;
L.F_timer.msg:="start";
Vr:=(Vr+1) mod 8;
AckRequired:=false
destination RECV
output {0.Data_Indication,
L.F_timer,
L.Update_Nr_Received,
L.resend_rejected_frames}
end
npb19 is
source RECV
input P.Recv
when mode=10 --- 00O0O0O00O
and P.Recv.msg="s:rr:rsp:ullr:F"
do L.F_timer.num:=num;
L.F_timer.msg:="start";
remoteBusy:=false
destination RECV
output {L.F_timer,
L.Update_Nr_Received,
L.resend_rejected_frames}
end
npb20 is
source RECV
input P.Recv



when mode=10 --- 000000
and P.Recv.msg="s:rej:rsp:Nr:F"
and remoteBusy=false

do L.F_timer.num:=num;

L.F_timer.msg:="start"
destination RECV

output {L.F_timer,

L.Update_Nr_Received,

L.resend_rejected_frames}

end
npb21 is

source RECV

input P.Recv

when mode=10 --- 000000
and P.Recv.msg="s:rej:rsp:Nr:F"
and remoteBusy=true

do P.Send.msg:="s:rr:cmd:Nr:P";

L.F_timer.num:=num;
L.F_timer.msg:="start"

destination RECV

output {P.Send,

L.F_timer,

L.Update_Nr_Received,

L.WMT_Delay?}

end
npb22 is

source RECV

input P.Recv

when mode=10 --- O00O0O0O00O
and (P.Recv.msg="i:rsp:iNs:Nr:not F"

or P.Recv.msg="i:rsp:Ns:iNr:not F"
or P.Recv.msg="s:x:rsp:iNr:not F")
do 0O.Reset_Indication.msg:="local";
L.F_timer.num:=num;
L.F_timer.msg:="stop";
xmitFlag:=false

destination RESET_WAIT

output {0.Reset_Indication,

L.F_timer}

end

---npb23 is

--- source RECV

--- input P.Recv

--- when mode=10 --- 000000

--- and (P.Recv.msg="i:rsp:iNs:Nr:not F"
-—- or P.Recv.msg="i:rsp:Ns:iNr:not F"
- or P.Recv.msg="s:x:rsp:ilNr:not F")
--- destination PCLOSE_WAIT

---end

npb24 is

source RECV

input P.Recv

when mode=10 --- O00O0O000O
and (P.Recv.msg="i:rsp:iNs:Nr:F"

or P.Recv.msg="i:rsp:Ns:iNr:F"
or P.Recv.msg="s:x:rsp:iNr:F")
do 0O.Reset_Indication.msg:="local";
L.F_timer.num:=num;
L.F_timer.msg:="stop";
xmitFlag:=true

destination RESET_WAIT

output {0.Reset_Indication,

L.F_timer}
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end
---npb25 is
--- source RECV
--- input P.Recv
--- when mode=10 --- O00O0O0O00O
--- and (P.Recv.msg="i:rsp:iNs:Nr:F"
-—- or P.Recv.msg="i:rsp:Ns:iNr:F"
-—= or P.Recv.msg="s:x:rsp:iNr:F")
--- do P.Send.msg:="u:disc:cmd:P";
-—= L.F_timer.num:=num;
--—— L.F_timer.msg:="start";
--— retryCount:=0
-—- destination PCLOSE
--- output {P.Send,
-—- L.F_timer,
-—= L.WMT_Delay,
-—= L.RB_Data}
---end
npb26 is
source RECV
input P.Recv
when mode=10 --- 000000
and P.Recv.msg="s:rr:rsp:Nr:F"
do L.F_timer.num:=num;
L.F_timer.msg:="stop";
L.P_timer.num:=num;
L.P_timer.msg:="start";
remoteBusy:=false
destination XMIT
output {L.F_timer,
L.P_timer,
L.Update_Nr_Received}
end
npb27 is
source RECV
input P.Recv
when mode=10 --- O0OO0O0OOO
and P.Recv.msg="s:srej:rsp:Nr:F"
and remoteBusy=false
do L.F_timer.num:=num;
L.F_timer.msg:="start"
destination RECV
output {L.F_timer,
L.Update_Nr_Received,
L.resend_rejected_frame}
end
npb28 is
source RECV
input P.Recv
when mode=10 --- 000000
and P.Recv.msg="s:srej:rsp:Nr:F"
and remoteBusy=true
do P.Send.msg:="s:rr:cmd:Nr:P";
L.F_timer.num:=num;
L.F_timer.msg:="start"
destination RECV
output {P.Send,
L.F_timer,
L.Update_Nr_Received,
L.WMT_Delay}
end
npb29 is
source RECV



input P.Recv
when mode=10 --- 00O0O0O00O
and P.Recv.msg="s:rnr:rsp:Nr:F"
do L.F_timer.num:=num;
L.F_timer.msg:="stop";
L.P_timer.num:=num;
L.P_timer.msg:="start";
remoteBusy:=true
destination XMIT
output {L.F_timer,
L.P_timer,
L.Update_Nr_Received}
end
npb30 is
source RECV
input P.Recv
when mode=10 --- 000000
and P.Recv.msg="u:frmr:rsp:F"
do 0O.Reset_Indication.msg:="local";
L.F_timer.num:=num;
L.F_timer.msg:="stop";
xmitFlag:=true
destination RESET_WAIT
output {0.Reset_Indication,
L.F_timer}
end
---npb31 is
--- source RECV
--- input P.Recv
--- when mode=10 --- 00O0O0O0OO
--- and P.Recv.msg="u:frmr:rsp:F"
--—— do L.F_timer.num:=num;
-—- L.F_timer.msg:="stop";
-—- L.P_timer.num:=num;
- L.P_timer.msg:="start"
--- destination XMIT
--- output {L.F_timer,
--- L.P_timer}
--—end
---npb32 is
--- source RECV
--- input P.Recv
--- when mode=10 --- 00O0O0O0OO
--- and P.Recv.msg="u:frmr:rsp:F"
--- do P.Send.msg:="u:disc:cmd:P";
-—- L.F_timer.num:=num;
--—— L.F_timer.msg:="start";
--— retryCount:=0
--- destination PCLOSE
--- output {P.Send,
-—- L.F_timer,
-—= L.WMT _Delay,
-—= L.RB_Data}
---end
npb33 is
source RECV
input P.Recv
when mode=10 --- 00O0O0O00O
and P.Recv.msg="u:rd:rsp:F"
do P.Send.msg:="u:disc:cmd:P";
L.F_timer.num:=num;
L.F_timer.msg:="start";
retryCount :=0
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destination PCLOSE
output {P.Send,
L.F_timer,
L.WMT_Delay,
L.RB_Data}
end
npb34 is
source RECV
input P.Recv
when mode=10 --- O00O0O0O00O
and P.Recv.msg="u:rnrm:rsp:F"
do O0O.Reset_Indication.msg:="remote";
L.F_timer.num:=num;
L.F_timer.msg:="stop"
destination RESET_CHECK
output {0.Reset_Indication,
L.F_timer}
end
npb35 is
source RECV
input P.Recv
when mode=10 --- 000000
and P.Recv.msg="u:rnrm:rsp:F"
do P.Send.msg:="u:disc:cmd:P";
L.F_timer.num:=num;
L.F_timer.msg:="start";
retryCount:=0
destination PCLOSE
output {P.Send,
L.F_timer,
L.WMT_Delay,
L.RB_Data}
end
npb36 is
source RECV
input L.Local_Busy_Detected

when mode=10 --—- 0oooog
destination BUSY_WAIT

end

npb37 is

source RECV
input L.F_timer
when mode=10 --- O0OO0OOOO
and L.F_timer.num=num
and L.F_timer.msg="expired"
and (retryCount<N2) and (retryCount/=N1)
do P.Send.msg:="s:rr:cmd:Nr:P";
L.F_timer.num:=num;
L.F_timer.msg:="start";
retryCount :=retryCount+1
destination RECV
output {P.Send,
L.F_timer,
L.WMT_Delay}
end
npb38 is
source RECV
input L.F_timer
when mode=10 --- 000000
and L.F_timer.num=num
and L.F_timer.msg="expired"
and retryCount=N1
do P.Send.msg:="s:rr:cmd:Nr:P";
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L.F_timer.num:=num;
L.F_timer.msg:="start";
retryCount:=retryCount+1
destination RECV
output {0.Status_Indication,
P.Send,
L.F_timer,
L.WMT_Delay}
end
npb39 is
source RECV
input L.F_timer
when mode=10 --- 000000
and L.F_timer.num=num
and L.F_timer.msg="expired"
and (retryCount>N2
or retryCount=N2)
do O0.Disconnect_Indication.msg:="disconnect";
mode:=0 --- OO0 O0O0O0OOO0ODOOO
destination NDM
output {0.Disconnect_Indication,
L.ADC_Parameters}
end
npb40 is
source RECV
input P.Recv
when mode=10 --- 00O0O0O00O
and P.Recv.msg="x:x:x:not F"
destination RECV
end
npb41l is
source RECV
input P.Recv
when mode=10 --- 00O0O0O00O
and P.Recv.msg="x:x:x:F"
do L.F_timer.num:=num;
.F_timer.msg:="stop";
.P_timer.num:=num;
.P_timer.msg:="start"
destination XMIT
output {L.F_timer,
L.P_timer}
end
npb42 is
source RECV
input P.Recv
when mode=10 --- O00O0O000O
and (P.Recv.msg="s:x:cmd:x"
or P.Recv.msg="i:cmd:x:x:x")
do 0.Disconnect_Indication.msg:="PrimaryConflict";
L.F_timer.num:=num;
L.F_timer.msg:="stop";
mode:=0 --- OO0O0OOOO0OO0OO
destination NDM
output {0.Disconnect_Indication,
L.F_timer,
L.ADC_Parameters?}
end

|l

--- for PCLOSE_WAIT
npcl0 is
source PCLOSE_WAIT
input L.F_timer or P.Recv
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when P.Recv.msg="x:x:x:F"
and L.F_timer.num=num
and L.F_timer.msg="expired"
do P.Send.msg:="u:disc:cmd:P";
L.F_timer.num:=num;
L.F_timer.msg:="start";
retryCount :=0
destination PCLOSE
output {P.Send,
L.F_timer,
L.WMT_Delay,
L.RB_Data}
end
npcll is
source PCLOSE_WAIT
input P.Recv
when P.Recv.msg="x:x:x:not F"
destination PCLOSE_WAIT
end
npcl2 is
source PCLOSE_WAIT
input P.Recv
when P.Recv.msg="s:x:cmd:x"
or P.Recv.msg="i:cmd:x:x:x"
do O0.Disconnect_Indication.msg:="PrimaryConflict";
L.F_timer.num:=num;
L.F_timer.msg:="stop";
mode:=0 --- OO0O0OOOO0OO0OO
destination NDM
output {0.Disconnect_Indication,
L.F_timer,
L.ADC_Parameters?}
end

--- for RESET_WAIT
npd10 is
source RESET_WAIT
input 0.Reset_Request
when 0.Reset_Request.num=num
and xmitFlag=true
do P.Send.msg:="u:snrm:cmd:P";
L.F_timer.num:=num;
L.F_timer.msg:="start"
destination RESET
output {P.Send,
L.F_timer,
L.WMT_Delay}
end
npdil is
source RESET_WAIT
input O0.Reset_Request
when 0.Reset_Request.num=num
and xmitFlag=false
do L.F_timer.num:=num;
L.F_timer.msg:="start"
destination RESET
output L.F_timer
end
npdi2 is
source RESET_WAIT
input 0.Disconnect_Request
when 0.Disconnect_Request.num=num
do P.Send.msg:="u:disc:cmd:P";
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L.F_timer.num:=num;
L.F_timer.msg:="start";
retryCount:=0
destination PCLOSE
output {P.Send,
L.F_timer,
L.WMT_Delay,
L.RB_Data}
end

--- for RESET_CHECK
npel0 is
source RESET_CHECK
input 0.Reset_Response
when mode=10 --- 00O0O0O00O
and O0.Reset_Response.num=num
do P.Send.msg:="u:snrm:cmd:P";
L.F_timer.num:=num;
L.F_timer.msg:="start";
Vr:=0; Vs:=0;
window:=windowSize;
remoteBusy:=false;
retryCount:=0
destination RESET
output {P.Send,
L.F_timer,
L.WMT_Delay}
end
npell is
source RESET_CHECK
input 0.Disconnect_Request
when mode=10 --- 000000

and 0.Disconnect_Request.num=num

do P.Send.msg:="u:disc:cmd:P";
L.F_timer.num:=num;
L.F_timer.msg:="start";
retryCount:=0

destination PCLOSE

output {P.Send,

L.F_timer,

L.WMT_Delay,

L.RB_Data}

end

--- for RESET
npf10 is
source RESET
input P.Recv
when mode=10 --- OJ0O0O0O0OO
and P.Recv.msg="u:ua:rsp:F"
do L.F_timer.num:=num;
L.F_timer.msg:="stop";
L.P_timer.num:=num;
L.P_timer.msg:="start";
Vr:=0; Vs:=0;
window:=windowSize;
remoteBusy:=false;
retryCount:=0
destination XMIT
output {0.Reset_Confirm,
L.F_timer,
L.P_timer}
end
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npfil is
source RESET
input P.Recv
when mode=10 --- 000000
and P.Recv.msg="u:dm:rsp:F"
do 0.Disconnect_Indication.msg:="disconnect";
L.F_timer.num:=num;
L.F_timer.msg:="stop";
mode:=0 --- O0O0O0OO0O0OOOOOO
destination NDM
output {0.Disconnect_Indication,
L.F_timer,
L.ADC_Parameters?}
end
npfl2 is
source RESET
input P.Recv
when mode=10 --- O0OO0OOOO
and P.Recv.msg="x:x:x:x"
destination RESET
end
npfl3 is
source RESET
input P.Recv
when mode=10 --- 000000
and P.Recv.msg="x:x:rsp:F"
do P.Send.msg:="u:snrm:cmd:P";
L.F_timer.num:=num;
L.F_timer.msg:="start"
destination RESET
output {P.Send,
L.F_timer,
L.WMT_Delay}
end
npfl4d is
source RESET
input L.F_timer
when mode=10 --- 000000
and L.F_timer.num=num
and L.F_timer.msg="expired"
and retryCount<N3
do P.Send.msg:="u:snrm:cmd:P";
L.F_timer.num:=num;
L.F_timer.msg:="start"
destination RESET
output {P.Send,
L.F_timer,
L.WMT_Delay?}
end
npfib is
source RESET
input L.F_timer
when mode=10 --- 000000
and L.F_timer.num=num
and L.F_timer.msg="expired"
and (retryCount>N3
or retryCount=N3)
do 0.Disconnect_Indication.msg:="disconnect";
mode:=0 --- OO0O0OOOO0OO0OO
destination NDM
output {0.Disconnect_Indication,
L.ADC_Parameters?}
end
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--- for BUSY
npgl0 is
source BUSY
input 0.Data_Request
when mode=10 --- O0OO0O0OOO
and 0.Data_Request.num=num
and 0.Data_Request.msg="DATA"
and remoteBusy=false
and window>1
do P.Send.msg:="i:cmd:Nr:Ns:not P";
--- P.Send.msg:="i:cmd:Nr:Ns:not P:data";
Store_Vs:="data";
Ack_Vs:=false;
Vs:=(Vs+1) mod 8;
AckRequired:=false;
window:=window-1
destination BUSY
output P.Send
end
npgll is
source BUSY
input 0.Data_Request
when mode=10 --- O0OO0O0OOO
and 0.Data_Request.num=num
and 0.Data_Request.msg="UDATA"
and remoteBusy=false
and window>1
do P.Send.msg:="u:ui:cmd:not P";
--- P.Send.msg:="u:ui:cmd:not P:data";
window:=window-1
destination BUSY
output P.Send
end
npgl2 is
source BUSY
input 0.Data_Request
when mode=10 --- 000000
and O0.Data_Request.num=num
and O0.Data_Request.msg="DATA"
and remoteBusy=false
and window=1
do P.Send.msg:="i:cmd:Nr:Ns:P";
--- P.Send.msg:="i:cmd:Nr:Ns:P:data";
L.P_timer.num:=num;
L.P_timer.msg:="stop";
L.F_timer.num:=num;
L.F_timer.msg:="start";
Store_Vs:="data";
Ack_Vs:=false;
Vs:=(Vs+1) mod 8;
window:=windowSize;
AckRequired:=false
destination BUSY_WAIT
output {P.Send,
L.P_timer,
L.F_timer}
end
---npgl3a is
--- source BUSY
--- input 0.Data_Request
--- when mode=10 --- 000000
- and 0.Data_Request.num=num



--- and 0.Data_Request.msg="UDATA"

--- and remoteBusy=false

--— and window=1

--- and AckRequired=true

--— do P.Send.msg:="u:ui:cmd: :not P";
--- P.Send.msg:="u:ui:cmd: :not P:data";
-—= L.P_timer.num:=num;

--- L.P_timer.msg:="stop";

-—- L.F_timer.num:=num;

--—— L.F_timer.msg:="start";

--- AckRequired:=false;

--- window:=windowSize

--- destination BUSY_WAIT

--- output {P.Send,

-—- L.P_timer,
- L.F_timer}
-—-end

npgl3b is

source BUSY
input 0.Data_Request
when mode=10 --- 00O0O0O00O
and 0.Data_Request.num=num
and 0.Data_Request.msg="UDATA"
and remoteBusy=false
and window=1
and AckRequired=true
do P.Send.msg:="s:rr:cmd:Nr:P";
.P_timer.num:=num;
.P_timer.msg:="stop";
.F_timer.num:=num;
.F_timer.msg:="start";
AckRequired:=false;
window:=windowSize
destination BUSY_WAIT
output {P.Send,

|l el e

L.P_timer,
L.F_timer}
end
npgl4d is

source BUSY
input 0.Data_Request
when mode=10 --- O0OO0O0OOO
and 0.Data_Request.num=num
and 0.Data_Request.msg="UDATA"
and remoteBusy=false
and window=1
and AckRequired=false
do P.Send.msg:="u:ui:cmd:P";
--- P.Send.msg:="u:ui:cmd:P:data";
L.P_timer.num:=num;
L.P_timer.msg:="stop";
L.F_timer.num:=num;
L.F_timer.msg:="start";
window:=windowSize
destination BUSY_WAIT
output {P.Send,
L.P_timer,
L.F_timer}
end
npglb is
source BUSY
input 0.Disconnect_Request
when mode=10 --- 000000

7



and 0.Disconnect_Request.num=num
do P.Send.msg:="u:disc:cmd:P";
L.P_timer.num:=num;
L.P_timer.msg:="stop";
L.F_timer.num:=num;
L.F_timer.msg:="start";
retryCount :=0
destination PCLOSE
output {P.Send,
L.P_timer,
L.F_timer,
L.WMT_Delay,
L.RB_Data}
end
npglé is
source BUSY
input L.Local_Busy_Cleared
when mode=10 --- O0OO0O0OOO
do P.Send.msg:="s:rr:cmd:P";
.P_timer.num:=num;
.P_timer.msg:="stop";
.P_timer.num:=num;
.F_timer.msg:="start"
destination RECV
output {P.Send,
L.P_timer,
L.F_timer,
L.WMT_Delay}
end
npgl7 is
source BUSY
input L.P_timer
when mode=10 --- 00O0O0O00O
and L.P_timer.num=num
and L.P_timer.msg="expired"
do P.Send.msg:="s:rnr:Nr:P";
L.F_timer.num:=num;
L.F_timer.msg:="start"
destination BUSY_WAIT
output {P.Send,
L.F_timer,
L.WMT_Delay?}
end

|l el e

--- for BUSY_WAIT
nphl0 is
source BUSY_WAIT
input P.Recv
when mode=10 --- O0OO0O0OOO
and (P.Recv.msg="i:rsp:Ns:Nr:not F"
or P.Recv.msg="i:rsp:uNs:Nr:not F")
destination BUSY_WAIT
output L.Update_Nr_Received
end
nphill is
source BUSY_WAIT
input P.Recv
when mode=10 --- 00O0O0O00O
and (P.Recv.msg="i:rsp:Ns:Nr:F"
or P.Recv.msg="i:rsp:uNs:Nr:F")
do L.F_timer.num:=num;
L.F_timer.msg:="stop";
L.P_timer.num:=num;
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L.P_timer.msg:="start"
destination BUSY
output {L.F_timer,
L.P_timer,
L.Update_Nr_Received}
end
nphi2 is
source BUSY_WAIT
input P.Recv
when mode=10 --- 000000
and P.Recv.msg="u:ui:rsp:not F"
destination BUSY_WAIT
end
nphi3 is
source BUSY_WAIT
input P.Recv
when mode=10 --- 000000
and (P.Recv.msg="u:ui:rsp:F"
or P.Recv.msg="u:xid:rsp:F")
do L.F_timer.num:=num;
F_timer.msg:="stop";
.P_timer.num:=num;
.P_timer.msg:="start"
destination BUSY
output {L.F_timer,
L.P_timer}
end
nphi4 is
source BUSY_WAIT
input P.Recv
when mode=10 --- O0OO0O0OOO
and P.Recv.msg="s:rr:rsp:F"
do L.F_timer.num:=num;
L.F_timer.msg:="stop";
L.P_timer.num:=num;
L.P_timer.msg:="start";
remoteBusy:=false
destination BUSY
output {L.F_timer,
L.P_timer,
L.Update_Nr_Received}
end
nphilb is
source BUSY_WAIT
input P.Recv
when mode=10 --- 00O0O0O00O
and P.Recv.msg="s:rnr:rsp:F"
do L.F_timer.num:=num;
L.F_timer.msg:="stop";
L.P_timer.num:=num;
L.P_timer.msg:="strat";
remoteBusy:=true
destination BUSY
output {L.F_timer,
L.P_timer,
L.Update_Nr_Received}
end
nphl6 is
source BUSY_WAIT
input P.Recv
when mode=10 --- O0OO0O0OOO
and P.Recv.msg="s:rej:rsp:F"
and remoteBusy=false

|l el

79



do L.F_timer.num:=num;
L.F_timer.msg:="start"
destination BUSY_WAIT
output {L.F_timer,
L.Update_Nr_Received,
L.resend_rejected_frames}
end
nphl7 is
source BUSY_WAIT
input P.Recv
when mode=10 --- 000000
and P.Recv.msg="s:rej:rsp:F"
and remoteBusy/=false
do P.Send.msg:="s:rnr:cmd:Nr:P";
L.F_timer.num:=num;
L.F_timer.msg:="start"
destination BUSY_WAIT
output {P.Send,
L.F_timer,
L.Update_Nr_Received,
L.WMT_Delay}
end
nphil8 is
source BUSY_WAIT
input P.Recv
when mode=10 --- 000000
and P.Recv.msg="s:srej:rsp:F"
and remoteBusy=false
do L.F_timer.num:=num;
L.F_timer.msg:="start"
destination BUSY_WAIT
output {L.F_timer,
L.Update_Nr_Received,
L.resend_rejected_frames}
end
nphl9 is
source BUSY_WAIT
input P.Recv
when mode=10 --- 00O0O0O00O
and P.Recv.msg="s:srej:rsp:F"
and remoteBusy/=false
do P.Send.msg:="s:rnr:cmd:Nr:P";
L.F_timer.num:=num;
L.F_timer.msg:="start"
destination BUSY_WAIT
output {P.Send,
L.F_timer,
L.Update_Nr_Received,
L.WMT_Delay?}
end
nph20 is
source BUSY_WAIT
input P.Recv
when mode=10 --- 000000
and P.Recv.msg="u:rd:rsp:F"
do P.Send.msg:="u:disc:cmd:P";
L.F_timer.num:=num;
L.F_timer.msg:="start";
retryCount:=0
destination PCLOSE
output {P.Send,
L.F_timer,
L.WMT_Delay,
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L.RB_Data}
end
nph21 is
source BUSY_WAIT
input P.Recv
when mode=10 --- O0OO0OOOO
and P.Recv.msg="u:frmr:rsp:F"
do 0O.Reset_Indication.msg:="local";
L.F_timer.num:=num;
L.F_timer.msg:="stop";
xmitFlag:=true
destination RESET_WAIT
output {0.Reset_Indication,
L.F_timer}
end
---nph22 is
--- source BUSY_WAIT
--- input P.Recv
--- when mode=10 --- 000000
--- and P.Recv.msg="u:frmr:rsp:F"
--- do L.F_timer.num:=num;
- L.F_timer.msg:="stop";
-—= L.P_timer.num:=num;
- L.P_timer.msg:="start"
--- destination BUSY
--- output {L.F_timer,
-—= L.P_timer}
---end
---nph23 is
--- source BUSY_WAIT
--- input P.Recv
--- when mode=10 --- 000000
--—- and P.Recv.msg="u:frmr:rsp:F"
--- do P.Send.msg:="u:disc:cmd:P";
-—= L.F_timer.num:=num;
--- L.F_timer.msg:="start";
--— retryCount:=0
--- destination PCLOSE
--- output {P.Send,
-—- L.F_timer,
-—= L.WMT_Delay,
--- L.RB_Data}
---end
nph24 is
source BUSY_WAIT
input P.Recv
when mode=10 --- 000000
and P.Recv.msg="u:rnrm:rsp:F"
do O0O.Reset_Indication.msg:="remote";
L.F_timer.num:=num;
L.F_timer.msg:="stop"
destination RESET_CHECK
output {0.Reset_Indication,
L.F_timer}
end
nph25 is
source BUSY_WAIT
input P.Recv
when mode=10 --- 000000
and P.Recv.msg="u:frmr:rsp:F"
do P.Send.msg:="u:disc:cmd:P";
L.F_timer.num:=num;
L.F_timer.msg:="start";



retryCount :=0
destination PCLOSE
output {P.Send,
L.F_timer,
L.WMT_Delay,
L.RB_Data}
end
nph26 is
source BUSY_WAIT
input P.Recv
when mode=10 --- 000000
and P.Recv.msg="x:x:x:not F"
destination BUSY_WAIT
end
nph27 is
source BUSY_WAIT
input P.Recv
when mode=10 --- O0OO0OOOO
and P.Recv.msg="x:x:x:F"
do L.F_timer.num:=num;
F_timer.msg:="stop";
.P_timer.num:=num;
.P_timer.msg:="start"
destination BUSY
output {L.F_timer,
L.P_timer}
end
nph28 is
source BUSY_WAIT
input L.F_timer
when mode=10 --- O0OO0O0OOO
and L.F_timer.num=num
and L.F_timer.msg="expired"
and retryCount<N2
and retryCount/=N1
do P.Send.msg:="s:rnr:cmd:Nr:P";
L.F_timer.msg:="start";
retryCount :=retryCount+1
destination BUSY_WAIT
output {P.Send,
L.F_timer,
L.WMT_Delay?}
end
nph29 is
source BUSY_WAIT
input L.F_timer
when mode=10 --- 000000
and L.F_timer.num=num
and L.F_timer.msg="expired"
and retryCount=N1
do P.Send.msg:="s:rnr:cmd:Nr:P";
L.F_timer.num:=num;
L.F_timer.msg:="start";
retryCount:=retryCount+1
destination BUSY_WAIT
output {0.Status_Indication,
P.Send,
L.F_timer,
L.WMT_Delay}
end
nph30 is
source BUSY_WAIT
input L.F_timer

|l el
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when mode=10 --- 000000
and L.F_timer.num=num
and L.F_timer.msg="expired"
and (retryCount>N2
or retryCount=N2)
do 0.Disconnect_Indication.msg:="disconnect";
mode:=0 --- OO0 O0O0O0OOO0ODOOO
destination NDM
output {0.Disconnect_Indication,
L.ADC_Parameters}
end

--- for PCLOSE
npil0 is
source PCLOSE
input P.Recv
when P.Recv.msg="u:ua:rsp:F"
do 0.Disconnect_Indication.msg:="disconnect";
L.F_timer.num:=num;
L.F_timer.msg:="stop";
mode:=0 --- O0O0O0OO0O0OOOOOO
destination NDM
output {0.Disconnect_Indication,
L.F_timer,
L.ADC_Parameters?}
end
npill is
source PCLOSE
input P.Recv
when P.Recv.msg="u:dm:rsp:F"
do 0.Disconnect_Indication.msg:="disconnect";
L.F_timer.num:=num;
L.F_timer.msg:="stop";
mode:=0 --- O0O0O0OO0O0OOOOOO
destination NDM
output {0.Disconnect_Indication,
L.F_timer,
L.ADC_Parameters?}
end
---npil2 is
--- source PCLOSE
--- input P.Recv
--- when P.Recv.msg="u:dm:rsp:F"
--- destination PCLOSE
--—end
npil3 is
source PCLOSE
input P.Recv
when P.Recv.msg="s:x:cmd:x"
or P.Recv.msg="i:cmd:x:x:x"
do 0.Disconnect_Indication.msg:="disconnect";
L.F_timer.num:=num;
L.F_timer.msg:="stop";
mode:=0 --- OO0O0OOOO0OO0OO
destination NDM
output {0.Disconnect_Indication,
L.F_timer,
L.ADC_Parameters}
end
npil4d is
source PCLOSE
input L.F_timer
when L.F_timer.num=num
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and L.F_timer.msg="expired"
and retryCount<N3
do P.Send.msg:="u:disc:cmd:P";
L.F_timer.num:=num;
L.F_timer.msg:="start";
retryCount :=retryCount+1
destination PCLOSE
output {P.Send,
L.F_timer,
L.WMT_Delay}
end
npilb is
source PCLOSE
input L.F_timer
when L.F_timer.num=num
and L.F_timer.msg="expired"
and (retryCount>N3 or retryCount=N3)
do O0.Disconnect_Indication.msg:="disconnect";
mode:=0 --- OO0 O0O0O0OOO0ODOOO
destination NDM
output {0.Disconnect_Indication,
L.ADC_Parameters}
end
-——-0b0aboabdg boboao

---gbooboooo
--- for XMIT
nsall is
source XMIT
input 0.Data_Request and 0.Pending_Data_Requests
when mode=20 --- 000000
and O0.Data_Request.num=num
and 0.Pending_Data_Requests.num=num
and 0.Data_Request.msg="DATA"
and remoteBusy=false
and window>1
do P.Send.msg:="i:rsp:Nr:Ns:not F";
--- P.Send.msg:="i:rsp:Nr:Ns:not F:data";
Store_Vs:="data";
Ack_Vs:=false;
Vs:=(Vs+1) mod 8;
AckRequired:=false;
window:=window-1
destination XMIT
output P.Send
end
nsall is
source XMIT
input 0.Data_Request and 0.Pending_Data_Requests
when mode=20 --- 0O0O0O00O
and O0.Data_Request.num=num
and 0.Pending_Data_Requests.num=num
and 0.Data_Request.msg="UDATA"
and remoteBusy=false
and window>1
do P.Send.msg:="u:ui:rsp:not F";
--- P.Send.msg:="u:ui:rsp:not F:data";
window:=window-1
destination XMIT
output P.Send
end
nsal2 is
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source XMIT

input 0.Data_Request

when mode=20 --- 00O0O0O00O
and 0.Data_Request.num=num

and 0.Data_Request.msg="DATA"
and remoteBusy=false

and window>1

do P.Send.msg:="i:rsp:Nr:Ns:F";

--- P.Send.msg:="i:rsp:Nr:Ns:F:data";
L.WD_timer.num:=num;
L.WD_timer.msg:="start";
Store_Vs:="data";

Ack_Vs:=false;

Vs:=(Vs+1) mod 8;

AckRequired:=false;
window:=windowSize

destination RECV
output {P.Send,
L.WD_timer}
end
---nsal3a is
--- source XMIT
--- input 0.Data_Request
--- when mode=20 --- U00O0OO0O0OO
- and 0.Data_Request.num=num
--- and 0.Data_Request.msg="UDATA"
--- and remoteBusy=false
--- and window>1
--- and AckRequired=true
--— do P.Send.msg:="u:ui:rsp: :not F";
--— P.Send.msg:="u:ui:rsp: :not F:data";
-—= L.WD_timer.num:=num;
---  L.WD_timer.msg:="start";
--- AckRequired:=false;
--- window:=windowSize
--- destination RECV
--- output {P.Send,
--- L.WD_timer}
--—end
nsal3b is
source XMIT
input 0.Data_Request
when mode=20 --- O0OO0OOO
and 0.Data_Request.num=num
and O0.Data_Request.msg="UDATA"
and remoteBusy=false
and window>1
and AckRequired=true
do P.Send.msg:="s:rr:rsp:Nr:F";
.WD_timer .num:=num;
.WD_timer.msg:="start";
AckRequired:=false;
window:=windowSize
destination RECV
output {P.Send,
L.WD_timer}
end
nsald is
source XMIT
input 0.Data_Request
when mode=20 --- O0OO0OOO
and 0.Data_Request.num=num
and 0.Data_Request.msg="UDATA"
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and remoteBusy=false
and window>1
and AckRequired=false
do P.Send.msg:="u:ui:rsp:F";
--- P.Send.msg:="u:ui:rsp:F:data";
L.WD_timer.num:=num;
L.WD_timer.msg:="start";
window:=windowSize
destination RECV
output {P.Send,

L.WD_timer}
end
nsalb is

source XMIT
input 0.Data_Request
when mode=20 --- 000000
and 0.Data_Request.num=num
and 0.Data_Request.msg="DATA"
and remoteBusy=false
and window=1
do P.Send.msg:="i:rsp:Nr:Ns:F";
--- P.Send.msg:="1i:rsp:Nr:Ns:F:data";
L.WD_timer.num:=num;
L.WD_timer.msg:="start";
Store_Vs:="data";
Ack_Vs:=false;
Vs:=(Vs+1) mod 8;
AckRequired:=false;
window:=windowSize
destination RECV
output {P.Send,
L.WD_timer}
end
---nsaléa is
--- source XMIT
--- input 0.Data_Request
--- when mode=20 --- U00O0OO0O0OO
- and 0.Data_Request.num=num

--- and 0.Data_Request.msg="UDATA"

--- and remoteBusy=false
--- and window=1
--- and AckRequired=true

--— do P.Send.msg:="u:ui:rsp: :not F";

--- P.Send.msg:="u:ui:rsp: :not F:data";

-—- L.WD_timer.num:=num;
---  L.WD_timer.msg:="start";
--- AckRequired:=false;
--- window:=windowSize
--- destination RECV
--- output {P.Send,
-—= L.WD_timer}
--—end
nsaléb is
source XMIT
input 0.Data_Request
when mode=20 --- 000000
and 0.Data_Request.num=num
and O0.Data_Request.msg="UDATA"
and remoteBusy=false
and window=1
and AckRequired=true
do P.Send.msg:="s:rr:rsp:Nr:F";
L.WD_timer.num:=num;
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L.WD_timer.msg:="start";
AckRequired:=false;
window:=windowSize

destination RECV
output {P.Send,
L.WD_timer}
end
nsal7 is
source XMIT
input 0.Data_Request
when mode=20 --- 000000
and 0.Data_Request.num=num
and 0.Data_Request.msg="UDATA"
and remoteBusy=false
and window=1
and AckRequired=false
do P.Send.msg:="u:ui:rsp:F";

--- P.Send.msg:="u:ui:rsp:F:data";

L.WD_timer.num:=num;

L.WD_timer.msg:="start";

window:=windowSize

destination RECV
output {P.Send,

L.WD_timer}
end
nsal8 is

source XMIT

input 0.Disconnect_Request

when mode=20 --- 000000

and 0.Disconnect_Request.num=num

do P.Send.msg:="u:rd:rsp:F";
L.WD_timer.num:=num;
L.WD_timer.msg:="start"

destination SCLOSE

output {P.Send,

L.WD_timer,

L.RB_Data}

end
nsal9 is

source XMIT

input 0.Reset_Request

when mode=20 --- O0OO0OOO

and 0.Reset_Request.num=num

do P.Send.msg:="u:rnrm:rsp:F";
L.WD_timer.num:=num;
L.WD_timer.msg:="start";
retryCount:=0

destination RESET

output {P.Send,

L.WD_timer}
end
nsa20 is

source XMIT
input L.Local_Busy_Detected
when mode=20 --—- 0oooog
destination BUSY

end

--— for RECV
nsb10 is
source RECV
input P.Recv
when mode=20 --——-0ooooao
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and P.Recv.msg="i:cmd:Ns:Nr:not P"
do L.WD_timer.num:=num;
L.WD_timer.msg:="start";
Vr:=(Vr+1) mod 8;
AckRequired:=true
destination RECV
output {0.Data_Indication,
L.WD_timer,
L.Update_Nr_Received}
end
nsbll is
source RECV
input 0.Pending_Data_Requests and P.Recv
when mode=20 --- 000000
and 0.Pending_Data_Requests.num=num
and P.Recv.msg="i:cmd:Ns:Nr:P"
and remoteBusy=false
do L.WD_timer.num:=num;
L.WD_timer.msg:="stop";
Vr:=(Vr+1) mod 8;
AckRequired:=false
destination XMIT
output {0.Data_Indication,
L.WD_timer,
L.Update_Nr_Received}
end
nsbl2a is
source RECV
input 0.Pending_Data_Requests and P.Recv
when mode=20 --- 00OOOOO
and 0.Pending_Data_Requests.num=num
and P.Recv.msg="i:cmd:Ns:Nr:P"
do P.Send.msg:="s:rr:rsp:Nr:F";
L.WD_timer.num:=num;
L.WD_timer.msg:="start";
Vr:=(Vr+1) mod 8
destination RECV
output {0.Data_Indication,
P.Send,
L.WD_timer,
L.WMT_Delay,
L.Update_Nr_Received}
end
nsb12b is
source RECV
input P.Recv
when mode=20 --- 000000
and P.Recv.msg="i:cmd:Ns:Nr:P"
and remoteBusy=true
do P.Send.msg:="s:rr:rsp:Nr:F";
L.WD_timer.num:=num;
L.WD_timer.msg:="start";
Vr:=(Vr+1) mod 8
destination RECV
output {0.Data_Indication,
P.Send,
L.WD_timer,
L.WMT_Delay,
L.Update_Nr_Received}
end
nsb13 is
source RECV
input P.Recv
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when mode=20 --- 0JO0O0O0OO
and P.Recv.msg="u:ui:cmd:not P"
do L.WD_timer.num:=num;
L.WD_timer.msg:="start"
destination RECV
output {0.Unitdata_Indication,

L.WD_timer}
end
nsbi4d is

source RECV
input 0.Pending_Data_Requests and P.Recv
when mode=20 --- O0OO0OOO
and 0.Pending_Data_Requests.num=num
and P.Recv.msg="u:ui:cmd:P"
and remoteBusy=false
do L.WD_timer.num:=num;
L.WD_timer.msg:="stop"
destination XMIT
output {0.Unitdata_Indication,
L.WD_timer}
end
nsblba is
source RECV
input 0.No_Pending_Data_Requests and P.Recv
when mode=20 --- 000000
and 0.No_Pending_Data_Requests.num=num
and P.Recv.msg="u:ui:cmd:P"
do P.Send.msg:="s:rr:rsp:Nr:F";
L.WD_timer.num:=num;
L.WD_timer.msg:="start";
AckRequired:=false
destination RECV
output {0.Unitdata_Indication,
P.Send,
L.WD_timer,
L.WMT_Delay?}
end
nsb1bb is
source RECV
input P.Recv
when mode=20 --- 000000
and P.Recv.msg="u:ui:cmd:P"
and remoteBusy=true
do P.Send.msg:="s:rr:rsp:Nr:F";
L.WD_timer.num:=num;
L.WD_timer.msg:="start";
AckRequired:=false
destination RECV
output {0.Unitdata_Indication,
P.Send,
L.WD_timer,
L.WMT_Delay}
end
nsb1l6 is
source RECV
input P.Recv
when mode=20 --- 000000
and P.Recv.msg="u:xid:cmd:P"
do P.Send.msg:="s:rr:rsp:Nr:F";
L.WD_timer.num:=num;
L.WD_timer.msg:="start";
AckRequired:=false
destination RECV
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output {P.Send,
L.WD_timer,
L.WMT_Delay}
end
nsbl7 is
source RECV
input P.Recv
when mode=20 --- 0JO0O0O0OO
and P.Recv.msg="u:test:cmd:P"
do P.Send.msg:="u:test:rsp:F";
.WD_timer.num:=num;
.WD_timer.msg:="start"
destination RECV
output {P.Send,
L.WD_timer,
L.WMT_Delay}
end
---nsbi18 is
--- source RECV
--- input P.Recv
--- when mode=20 --- 000000
--— and P.Recv.msg="u:test:cmd:P"
--— do P.Send.msg:="s:rr:rsp:Nr:F";
-—= L.WD_timer.num:=num;
-—- L.WD_timer.msg:="start"
--- destination RECV
--- output {P.Send,
-—= L.WD_timer,
-—= L.WMT_Delay}
---end
nsb19 is
source RECV
input P.Recv
when mode=20 --- 0O0O0O00O
and P.Recv.msg="i:cmd:uNs:Nr:not P"
do L.WD_timer.num:=num;
.WD_timer.msg:="start"
destination RECV
output {L.WD_timer,
L.Update_Nr_Received}
end
nsb20 is
source RECV
input P.Recv
when mode=20 --- 0O0O0O00O
and P.Recv.msg="i:cmd:uNs:Nr:P"
do P.Send.msg:="s:rr:rsp:F:Nr";
.WD_timer.num:=num;
.WD_timer.msg:="start"
destination RECV
output {P.Send,
L.WD_timer,
L.WMT_Delay,
L.Update_Nr_Received}
end
---nsb21 is
--- source RECV
--- input P.Recv
--- when mode=20 --- O00O0O0O00O
--- and P.Recv.msg="i:cmd:ulNs:Nr:P"
--— do P.Send.msg:="s:rej:rsp:F:Nr";
-—= L.WD_timer.num:=num;
-—- L.WD_timer.msg:="start"
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--- destination RECV
--- output {P.Send,

-—- L.WD_timer,

-—= L.WMT_Delay,

-—= L.Update_Nr_Received}
--—end

nsb22 is

source RECV
input P.Recv
when mode=20 --- 000000
and P.Recv.msg="i:cmd:Ns:uNr:P"
do L.WD_timer.num:=num;
L.WD_timer.msg:="start";
Vr:=(Vr+1) mod 8
destination RECV
output {0.Data_Indication,
L.WD_timer,
L.Update_Nr_Received,
L.resend_rejected_frames}
end
nsb23 is
source RECV
input P.Recv
when mode=20 --- O0OO0OOO
and P.Recv.msg="s:rr:cmd:Ns:ulNr:P"
do L.WD_timer.num:=num;
L.WD_timer.msg:="start";
remoteBusy:=false
destination RECV
output {L.WD_timer,
L.Update_Nr_Received,
L.resend_rejected_frames}
end
nsb24 is
source RECV
input P.Recv
when mode=20 --- O0OO0OOO
and P.Recv.msg="s:rej:cmd:Nr:P"
and remoteBusy=false
do L.WD_timer.num:=num;
L.WD_timer.msg:="start"
destination RECV
output {L.WD_timer,
L.Update_Nr_Received,
L.resend_rejected_frames}
end
nsb25 is
source RECV
input P.Recv
when mode=20 --- 000000
and P.Recv.msg="s:rej:cmd:Nr:P"
and remoteBusy/=false
do P.Send.msg:="s:rr:rsp:Nr:F";
L.WD_timer.num:=num;
L.WD_timer.msg:="start"
destination RECV
output {P.Send,
L.WD_timer,
L.WMT_Delay,
L.Update_Nr_Received}
end
nsb26 is
source RECV
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input P.Recv
when mode=20 --- 00O0O0O00O
and (P.Recv.msg="i:cmd:iNs:Nr:not P"
or P.Recv.msg="i:cmd:Ns:iNr:not P"
or P.Recv.msg="s:x:cmd:iNr:not P")
destination ERROR
output 0.Prepare_FRMR_Response
end
nsb27 is
source RECV
input P.Recv
when mode=20 --- OUOOOOO
and (P.Recv.msg="i:cmd:iNs:Nr:P"
or P.Recv.msg="i:cmd:Ns:iNr:P"
or P.Recv.msg="s:x:cmd:iNr:P")
do P.Send.msg:="u:frmr:rsp:F";
L.WD_timer.num:=num;
L.WD_timer.msg:="start"
destination RECV
output {P.Send,
L.WD_timer,
L.WMT_Delay}
end
nsb28 is
source RECV
input 0.Pending_Data_Requests and P.Recv
when mode=20 --- 0O0O0O00O
and 0.Pending_Data_Requests.num=num
and P.Recv.msg="s:rr:cmd:Nr:P"
and remoteBusy=false
do L.WD_timer.num:=num;
L.WD_timer.msg:="stop";
remoteBusy:=false
destination XMIT
output {L.WD_timer,
L.Update_Nr_Received}
end
nsb29a is
source RECV
input 0.No_Pending_Data_Requests and P.Recv
when mode=20 --- 000000
and 0.No_Pending_Data_Requests.num=num
and P.Recv.msg="s:rr:cmd:Nr:P"
do P.Send.msg:="s:rr:rsp:Nr:F";
L.WD_timer.num:=num;
L.WD_timer.msg:="start";
remoteBusy:=false
destination RECV
output {P.Send,
L.WD_timer,
L.WMT_Delay,
L.Update_Nr_Received}
end
nsb29%b is
source RECV
input P.Recv
when mode=20 --- 000000
and P.Recv.msg="s:rr:cmd:Nr:P"
and remoteBusy=true
do P.Send.msg:="s:rr:rsp:Nr:F";
L.WD_timer.num:=num;
L.WD_timer.msg:="start";
remoteBusy:=false
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destination RECV
output {P.Send,
L.WD_timer,
L.WMT_Delay,
L.Update_Nr_Received}
end
nsb30 is
source RECV
input P.Recv
when mode=20 --- 000000
and P.Recv.msg="s:rej:cmd:Nr:P"
and remoteBusy=false
do L.WD_timer.num:=num;
L.WD_timer.msg:="start"
destination RECV
output {L.WD_timer,
L.Update_Nr_Received,
L.resend_rejected_frame}
end
nsb31 is
source RECV
input P.Recv
when mode=20 --- 000000
and P.Recv.msg="s:rej:cmd:Nr:P"
and remoteBusy=true
do P.Send.msg:="s:rr:rsp:Nr:F";
L.WD_timer.num:=num;
L.WD_timer.msg:="start"
destination RECV
output {P.Send,

L.WD_timer,
L.WMT_Delay,
L.Update_Nr_Received}

end
nsb32 is

source RECV

input P.Recv

when mode=20 --- 000000

and P.Recv.msg="s:rnr:cmd:Nr:P"

do P.Send.msg:="s:rr:rsp:Nr:F";
L.WD_timer.num:=num;
L.WD_timer.msg:="start";
remoteBusy:=true

destination RECV

output {P.Send,

L.WD_timer,

L.WMT_Delay,

L.Update_Nr_Received}

end
nsb33 is

source RECV

input P.Recv

when mode=20 --- 000000

and P.Recv.msg="s:disc:cmd:P"

do 0.Disconnect_Indication.msg:="disconnect";
P.Send.msg:="u:ua:rsp:F";
L.WD_timer.num:=num;
L.WD_timer.msg:="stop";
mode:=0 --- OO0O0OOOO0OO0OO

destination NDM

output {0.Disconnect_Indication,

P.Send,

L.WD_timer,
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L.WMT_Delay,
L.RB_Data,
L.ADC_Parameters?}
end
nsb34 is
source RECV
input P.Recv
when mode=20 --- JOOOOO
and P.Recv.msg="Unknown Frame"
do P.Send.msg:="u:frmr:rsp:F";
.WD_timer.num:=num;
.WD_timer.msg:="start"
destination RECV
output {P.Send,
L.WD_timer,
L.WMT_Delay}
end
nsb3b is
source RECV
input L.Local_Busy_Detected

when mode=20 -——-QOgooood
destination BUSY_WAIT

end

---nsb36 is

--- source RECV
--- input P.Recv

--- when mode=20 --- O0O0O0O0O
--- and P.Recv.msg="U:snrm:cmd:P"

--—— do O0.Reset_Indication.msg:="remote";

-—= L.WD_timer.num:=num;
- L.WD_timer.msg:="stop"
--- destination RESET_CHECK
--- output {0.Reset_Indication,
--- L.WD_timer}
---end
nsb37 is
source RECV
input P.Recv
when mode=20 --- OJO0OOOO
and P.Recv.msg="U:snrm:cmd:P"
do P.Send.msg:="u:rd:rsp:F";
.WD_timer.num:=num;
.WD_timer.msg:="start"
destination SCLOSE
output {P.Send,
L.WD_timer,
L.WMT_Delay}
end
nsb38 is
source RECV
input L.WD_timer
when mode=20 --- OJO0OOOO
and L.WD_timer.num=num
and L.WD_timer.msg="expired"
do L.WD_timer.num:=num;
.WD_timer.msg:="start"
destination RECV
output {0.Status_Indication,
L.WD_timer}
end
---nsb39 is
--— source RECV
--- input L.WD_timer
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--- when mode=20 --- 000000
--— and L.WD_timer.num=num
--- and L.WD_timer.msg="expired"
--— do O0.Disconnect_Indication.msg:="NoRespose";
- mode:=0 --- 000 O0O00O000O0OO
--- destination NDM
--- output {0.Disconnect_Indication,
-——- L.ADC_Parameters,
-—= L.RB_Data}
---end
nsb40 is
source RECV
input P.Recv
when mode=20 --- 0J0O0O0OOO
and (P.Recv.msg="s:x:rsp:x"
or P.Recv.msg="i:rsp:x:x:x")
do 0.Disconnect_Indication.msg:="PrimaryConflict";
L.WD_timer.num:=num;
L.WD_timer.msg:="stop";
mode:=0 --- OO0 O0O0O0OOO0ODOOO
destination NDM
output {0.Disconnect_Indication,
L.WD_timer,
L.ADC_Parameters?}
end
nsb4l is
source RECV
input P.Recv
when mode=20 --- 000000
and P.Recv.msg="x:x:cmd:not P"
destination RECV
end

--— for ERROR
nscl0 is
source ERROR
input P.Recv
when P.Recv.msg="x:x:x:P"
do P.Send.msg:="u:frmr:rsp:F";
L.WD_timer.num:=num;
L.WD_timer.msg:="start"
destination RECV
output {P.Send,
L.WD_timer,
L.WMT_Delay}
end
nscll is
source ERROR
input P.Recv
when P.Recv.msg="u:disc:cmd:P"
do 0.Disconnect_Indication.msg:="disconnect";
P.Send.msg:="u:ua:rsp:F";
L.WD_timer.num:=num;
L.WD_timer.msg:="stop";
mode:=0 --- OO0 O0OOOOO0OOOO
destination NDM
output {0.Disconnect_Indication,
P.Send,
L.WD_timer,
L.RB_Data,
L.ADC_Parameters?}
end
nscl2 is
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source ERROR
input P.Recv
when P.Recv.msg="u:dm:rsp:P"
do 0.Disconnect_Indication.msg:="disconnect";
L.WD_timer.num:=num;
L.WD_timer.msg:="stop";
mode:=0 --- OO0 O0O0O0OOO0ODOOO
destination NDM
output {0.Disconnect_Indication,
L.WD_timer,
L.RB_Data,
L.ADC_Parameters?}
end
nscl3 is
source ERROR
input P.Recv
when P.Recv.msg="x:x:x:not P"
do L.WD_timer.num:=num;
L.WD_timer.msg:="start"
destination ERROR
output L.WD_timer
end

--- for RESET_CHECK
nsd10 is
source RESET_CHECK
input O0.Reset_Response
when mode=20 --- 000000
and O0.Reset_Response.num=num
do P.Send.msg:="u:ua:rsp:F";
L.WD_timer.num:=num;
L.WD_timer.msg:="start";
Vr:=0;
Vs:=0;
window:=windowSize;
remoteBusy:=false;
retryCount:=0
destination RECV
output {P.Send,
L.WD_timer,
L.RB_Data}
end
nsdll is
source RESET_CHECK
input 0.Disconnect_Request
when mode=20 --- 0O0O0O00O
and 0.Disconnect_Request.num=num
do P.Send.msg:="u:rd:rsp:F";
L.WD_timer.num:=num;
L.WD_timer.msg:="start"
destination SCLOSE
output {P.Send,
L.WD_timer,
L.WMT_Delay}
end

--— for RESET
nsel0 is
source RESET
input P.Recv
when mode=20 --- O0OO0OOO
and P.Recv.msg="u:snrm:cmd:P"
do P.Send.msg:="u:ua:rsp:F";
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L.WD_timer.num:=num;
L.WD_timer.msg:="start";
Vr:=0;
Vs:=0;
window:=windowSize;
remoteBusy:=false;
retryCount :=0
destination RECV
output {0.Reset_Confirm,
P.Send,
L.WD_timer,
L.WMT_Delay?}
end
nsell is
source RESET
input P.Recv
when mode=20 --- OJO0OOOO
and P.Recv.msg="u:dm:x:P"
do 0O.Disconnect_Indication.msg:="disconnect";
L.WD_timer.num:=num;
L.WD_timer.msg:="stop";
mode:=0 --- OO0O0OOOO0OO0OO
destination NDM
output {0.Disconnect_Indication,
L.WD_timer,
L.RB_Data,
L.ADC_Parameters?}
end
nsel2 is
source RESET
input P.Recv
when mode=20 --- J0OOOOO
and P.Recv.msg="x:x:x:x"
destination RESET
end
nsel3d is
source RESET
input P.Recv
when mode=20 --- OJO0OOOO
and P.Recv.msg="x:x:cmd:P"
do P.Send.msg:="u:rnrm:rsp:F";
L.WD_timer.num:=num;
L.WD_timer.msg:="start"
destination RESET
output {P.Send,
L.WD_timer,
L.WMT_Delay}
end
nsel4d is
source RESET
input L.WD_timer
when mode=20 --- OJO0OOOO
and L.WD_timer.num=num
and L.WD_timer.msg="expired"
do 0.Disconnect_Indication.msg:="disconnect";
mode:=0 --- OO0 O0O0O0OOO0ODOOO
destination NDM
output {0.Disconnect_Indication,
L.RB_Data,
L.ADC_Parameters}
end

--- for BUSY
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nsf10 is
source BUSY
input 0.Data_Request and 0.Pending_Requests
when mode=20 --- 000000
and 0.Data_Request.num=num
and 0.Pending_Requests.num=num
and 0.Data_Request.msg="DATA"
and window>1
and remoteBusy=false
do P.Send.msg:="i:rsp:Nr:Ns:not F";
--- P.Send.msg:="i:rsp:Nr:Ns:not F:data";
Store_Vs:="data";
Ack_Vs:=false;
Vs:=(Vs+1) mod 8;
AckRequired:=false;
window:=window-1
destination BUSY
output P.Send
end
nsfll is
source BUSY
input 0.Data_Request and 0.Pending_Requests
when mode=20 --- 000000
and 0.Data_Request.num=num
and 0.Pending_Requests.num=num
and 0.Data_Request.msg="UDATA"
and remoteBusy=false
and window>1
do P.Send.msg:="i:rsp:Nr:Ns:not F";
--- P.Send.msg:="i:rsp:Nr:Ns:not F:data";
Store_Vs:="data";
Ack_Vs:=false;
Vs:=(Vs+1) mod 8;
AckRequired:=false;
window:=window-1
destination BUSY
output P.Send
end
nsfl2a is
source BUSY
input 0.Data_Request
when mode=20 --- O0OO0OOO
and 0.Data_Request.num=num
and 0.Data_Request.msg="DATA"
and remoteBusy=false
and window=1
do P.Send.msg:="i:rsp:Nr:Ns:not F";
--- P.Send.msg:="i:rsp:Nr:Ns:not F:data";
L.WD_timer.num:=num;
L.WD_timer.msg:="start";
Store_Vs:="data";
Ack_Vs:=false;
Vs:=(Vs+1) mod 8;
AckRequired:=false;
window:=windowSize
destination BUSY_WAIT
output {P.Send,
L.WD_timer}
end
---nsf12b is
--- source BUSY
--- input 0.Data_Request
--- when mode=20 --- 000000
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- and 0.Data_Request.num=num
--- and 0.Data_Request.msg="DATA"
--- and remoteBusy=false
--- and window=1
--— do P.Send.msg:="s:rnr:Nr:F";
-—= L.WD_timer.num:=num;
--—- L.WD_timer.msg:="start";
--- Store_Vs:="data";
--- Ack_Vs:=false;
--— Vs:=(Vs+1) mod 8;
--- AckRequired:=false;
--- window:=windowSize
--- destination BUSY_WAIT
--- output {P.Send,
-—= L.WD_timer}
---end
nsfl3a is
source BUSY
input 0.Data_Request
when mode=20 --- 000000
and O0.Data_Request.num=num
and 0.Data_Request.msg="UDATA"
and remoteBusy=false
and window=1
do P.Send.msg:="u:ui:rsp:not F";
--- P.Send.msg:="u:ui:rsp:not F:data";
L.WD_timer.num:=num;
L.WD_timer.msg:="start";
window:=windowSize
destination BUSY_WAIT
output {P.Send,
L.WD_timer}
end
---nsf13b is
--- source BUSY
--- input 0.Data_Request
--- when mode=20 --- U00O0OO0O0OO
- and 0.Data_Request.num=num
--- and 0.Data_Request.msg="UDATA"
--- and remoteBusy=false
--- and window=1
--- do P.Send.msg:="s:rnr:Nr:F";
-—= L.WD_timer.num:=num;
--—- L.WD_timer.msg:="start";
--— window:=windowSize
--— destination BUSY_WAIT
--- output {P.Send,
--- L.WD_timer}
---end
nsfl4 is
source BUSY
input L.Local_Busy_Cleared
when mode=20 --- 000000
do P.Send.msg:="s:rr:rsp:F";
L.WD_timer.num:=num;
L.WD_timer.msg:="start"
destination RECV
output {P.Send,

L.WD_timer,
L.WMT_Delay}
end

--— BUSY_WAIT



nsgl0 is
source BUSY_WAIT
input P.Recv
when mode=20 --- 000000
and (P.Recv.msg="i:cmd:Ns:Nr:not P"
or P.Recv.msg="i:cmd:uNs:Nr:not P")
do L.WD_timer.num:=num;
.WD_timer.msg:="start"
destination BUSY_WAIT
output {L.WD_timer,
L.Update_Nr_Received}
end
nsgll is
source BUSY_WAIT
input 0.Pending_Requests and P.Recv
when mode=20 --- 000000
and 0.Pending_Requests.num=num
and (P.Recv.msg="i:cmd:Ns:Nr:P"
or P.Recv.msg="i:cmd:uNs:Nr:P")
and remoteBusy=false
do L.WD_timer.num:=num;
.WD_timer.msg:="stop"
destination BUSY
output {L.WD_timer,
L.Update_Nr_Received}
end
nsgl2a is
source BUSY_WAIT
input 0.No_Pending_Data_Requests and P.Recv
when mode=20 --- O0OO0OOO
and 0.No_Pending_Data_Requests.num=num
and (P.Recv.msg="i:cmd:Ns:Nr:P"
or P.Recv.msg="i:cmd:uNs:Nr:P")
do P.Send.msg:="s:rnr:rsp:Nr:F";
.WD_timer.num:=num;
.WD_timer.msg:="start"
destination BUSY_WAIT
output {P.Send,
L.WD_timer,
L.Update_Nr_Received,
L.WMT_Delay}
end
nsgl2b is
source BUSY_WAIT
input P.Recv
when mode=20 --- 00O0O0O00O
and (P.Recv.msg="i:cmd:Ns:Nr:P"
or P.Recv.msg="i:cmd:uNs:Nr:P")
and remoteBusy=true
do P.Send.msg:="s:rnr:rsp:Nr:F";
.WD_timer.num:=num;
.WD_timer.msg:="start"
destination BUSY_WAIT
output {P.Send,
L.WD_timer,
L.Update_Nr_Received,
L.WMT_Delay}
end
nsgl3 1is
source BUSY_WAIT
input P.Recv
when mode=20 --- 000000
and P.Recv.msg="u:ui:cmd:not P"
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do L.WD_timer.num:=num;
.WD_timer.msg:="start"
destination BUSY_WAIT
output L.WD_timer
end
nsgld is
source BUSY_WAIT
input 0.Pending_Requests and P.Recv
when mode=20 --- 0O0O0O00O
and 0.Pending_Requests.num=num
and P.Recv.msg="u:ui:cmd:P"
and remoteBusy=false
do L.WD_timer.num:=num;
.WD_timer.msg:="stop"
destination BUSY
output L.WD_timer
end
nsglba is
source BUSY_WAIT
input 0.No_Pending_Data_Requests and P.Recv
when mode=20 --- 0O0O0O00O
and 0.No_Pending_Data_Requests.num=num
and P.Recv.msg="u:ui:cmd:P"
do P.Send.msg:="s:rnr:rsp:Nr:F";
.WD_timer .num:=num;
.WD_timer.msg:="start"
destination BUSY_WAIT
output {P.Send,
L.WD_timer,
L.WMT_Delay?}
end
nsglbb is
source BUSY_WAIT
input P.Recv
when mode=20 --- 000000
and P.Recv.msg="u:ui:cmd:P"
and remoteBusy=true
do P.Send.msg:="s:rnr:rsp:Nr:F";
.WD_timer.num:=num;
.WD_timer.msg:="start"
destination BUSY_WAIT
output {P.Send,
L.WD_timer,
L.WMT_Delay}
end
nsglé is
source BUSY_WAIT
input P.Recv
when mode=20 --- O0OO0OOO
and P.Recv.msg="u:xid:cmd:P"
do P.Send.msg:="s:rnr:rsp:Nr:F";
.WD_timer.num:=num;
.WD_timer.msg:="start"
destination BUSY_WAIT
output {P.Send,
L.WD_timer,
L.WMT_Delay}
end
nsgl7 1is
source BUSY_WAIT
input P.Recv
when mode=20 --- 000000
and P.Recv.msg="u:test:cmd:P"
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do P.Send.msg:="u:test:rsp:F";
L.WD_timer.num:=num;
L.WD_timer.msg:="start"
destination BUSY_WAIT
output {P.Send,
L.WD_timer,
L.WMT_Delay}
end
---nsgl8 is
--- source BUSY
--- input P.Recv
--- when mode=20 --- U00O0OO0O0OO
--- and P.Recv.msg="u:test:cmd:P"
--- do P.Send.msg:="u:rnr:rsp:F";
-—- L.WD_timer.num:=num;
- L.WD_timer.msg:="start"
--- destination BUSY_WAIT
--- output {P.Send,
-—= WD_timer,
--= L.WMT_Delay}
--—end
nsgl9 is
source BUSY_WAIT
input 0.Pending_Requests and P.Recv
when mode=20 --- 000000
and 0.Pending_Requests.num=num
and P.Recv.msg="s:rr:cmd:P"
and remoteBusy=false
do L.WD_timer.num:=num;
L.WD_timer.msg:="stop";
remoteBusy:=false
destination BUSY
output {L.WD_timer,
L.Update_Nr_Received}
end
nsg20a is
source BUSY_WAIT
input 0.No_Pending_Data_Requests and P.Recv
when mode=20 --- 0O0O0O00O
and 0.No_Pending_Data_Requests.num=num
and P.Recv.msg="s:rr:cmd:P"
do P.Send.msg:="s:rnr:rsp:Nr:F";
L.WD_timer.num:=num;
L.WD_timer.msg:="start";
remoteBusy:=false
destination BUSY_WAIT
output {P.Send,
L.WD_timer,
L.WMT_Delay,
L.Update_Nr_Received}
end
nsg20b is
source BUSY_WAIT
input P.Recv
when mode=20 --- O0OO0OOO
and P.Recv.msg="s:rr:cmd:P"
and remoteBusy=true
do P.Send.msg:="s:rnr:rsp:Nr:F";
L.WD_timer.num:=num;
L.WD_timer.msg:="start";
remoteBusy:=false
destination BUSY_WAIT
output {P.Send,
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L.WD_timer,
L.WMT_Delay,
L.Update_Nr_Received}
end
nsg2l 1is
source BUSY_WAIT
input P.Recv and L.Pending_Busy_Cleared
when mode=20 --- 0JO0O0O0OO
and P.Recv.msg="s:rnr:cmd:P"
and L.Pending Busy_Cleared.bool=false
do P.Send.msg:="S:rnr:rsp:Nr:F";
L.WD_timer.num:=num;
L.WD_timer.msg:="start";
remoteBusy:=true
destination BUSY_WAIT
output {P.Send,
L.WD_timer,
L.WMT_Delay?}
end
nsg22 is
source BUSY_WAIT
input P.Recv and L.Pending_Busy_Cleared
when mode=20 --- 000000
and P.Recv.msg="s:rnr:cmd:P"
and L.Pending_Busy_Cleared.bool=true
do remoteBusy:=true
destination BUSY
end
nsg23 1is
source BUSY_WAIT
input P.Recv
when mode=20 --- 0JO0O0O0OO
and P.Recv.msg="s:rej:cmd:F"
and remoteBusy=false
do L.WD_timer.num:=num;
L.WD_timer.msg:="start"
destination BUSY_WAIT
output {L.WD_timer,
L.Update_Nr_Received,
L.resend_rejected_frames}
end
nsg24 is
source BUSY_WAIT
input P.Recv
when mode=20 --- 0O0O0O00O
and P.Recv.msg="s:rej:cmd:F"
and remoteBusy=true
do P.Send.msg:="s:rnr:rsp:Nr:F";
L.WD_timer.num:=num;
L.WD_timer.msg:="start"
destination BUSY_WAIT
output {P.Send,
L.WD_timer,
L.Update_Nr_Received,
L.WMT_Delay?}
end
nsg2b is
source BUSY_WAIT
input P.Recv
when mode=20 --- 000000
and P.Recv.msg="s:srej:cmd:F"
and remoteBusy=false
do L.WD_timer.num:=num;
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L.WD_timer.msg:="start"
destination BUSY_WAIT
output {L.WD_timer,
L.Update_Nr_Received,
L.resend_rejected_frames}
end
nsg26 is
source BUSY_WAIT
input P.Recv
when mode=20 --- 000000
and P.Recv.msg="s:srej:cmd:F"
and remoteBusy=true
do P.Send.msg:="s:rnr:rsp:Nr:F";
L.WD_timer.num:=num;
L.WD_timer.msg:="start"
destination BUSY_WAIT
output {P.Send,
L.WD_timer,
L.Update_Nr_Received,
L.WMT_Delay}
end
nsg27 1is
source BUSY_WAIT
input P.Recv
when mode=20 --- 000000
and P.Recv.msg="u:disc:cmd:P"
do 0.Disconnect_Indication.msg:="disconnect";
P.Send.msg:="u:ua:rsp:F";
L.WD_timer.num:=num;
L.WD_timer.msg:="stop";
mode:=0 --- OO0 O0OOOOO0OOOO
destination NDM
output {0.Disconnect_Indication,
P.Send,
L.WD_timer,
L.WMT_Delay,
L.RB_Data,
L.ADC_Parameters?}
end
nsg28 is
source BUSY_WAIT
input P.Recv
when mode=20 --- O0OO0OOO
and P.Recv.msg="u:snrm:cmd:P"
do O0O.Reset_Indication.msg:="remote";
L.WD_timer.num:=num;
L.WD_timer.msg:="stop"
destination RESET_CHECK
output {0.Reset_Indication,

L.WD_timer}
end
nsg29 is

source BUSY_WAIT

input P.Recv

when mode=20 --- O0OO0OOO

and P.Recv.msg="u:snrm:cmd:P"

do P.Send.msg:="u:rd:rsp:F";
L.WD_timer.num:=num;
L.WD_timer.msg:="start"

destination SCLOSE

output {P.Send,

L.WD_timer,

L.WMT_Delay}
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end
nsg30 is
source BUSY_WAIT
input L.WD_timer
when mode=20 --- 000000
and L.WD_timer.num=num
and L.WD_timer.msg="expired"
do L.WD_timer.num:=num;
L.WD_timer.msg:="start"
destination BUSY_WAIT
output {0.Status_Indication,
L.WD_timer}
end
---nsg31 is
--- source BUSY_WAIT
--- input L.WD_timer
--- when mode=20 --- O00O0O0O00O
--- and L.WD_timer.num=num
--- and L.WD_timer.msg="expired"
--- do O0.Disconnect_Indication.msg:="disconnect";
- mode:=0 --- 000 O0OO0O0OOOOO
--- destination NDM
--- output {0.Disconnect_Indication,
--- L.ADC_Parameters}
---end
nsg32 is
source BUSY_WAIT
input P.Recv
when mode=20 --- 000000
and (P.Recv.msg="s:x:rsp:x"
or P.Recv.msg="i:rsp:x:x:x")
do 0.Disconnect_Indication.msg:="PrimaryConflict";
L.WD_timer.num:=num;
L.WD_timer.msg:="start";
mode:=0 --- OO0O0OOOO0OO0OO
destination NDM
output {0.Disconnect_Indication,
L.WD_timer,
L.ADC_Parameters}
end
nsg33 1is
source BUSY_WAIT
input P.Recv
when mode=20 --- 0JO0O0O0OO
and P.Recv.msg="x:x:cmd:not P"
destination BUSY_WAIT
end
nsg34 is
source BUSY_WAIT
input P.Recv
when mode=20 --- 00O0O0O00O
and P.Recv.msg="Unknown-Frame"
do P.Send.msg:="u:frmr:rsp:F";
L.WD_timer.num:=num;
L.WD_timer.msg:="start"
destination BUSY_WAIT
output {P.Send,
L.WD_timer,
L.WMT_Delay}
end

--- for SCLOSE
nshil0 is
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source SCLOSE
input P.Recv
when P.Recv.msg="u:disc:cmd:P"
do 0.Disconnect_Indication.msg:="disconnect";
P.Send.msg:="u:ua:rsp:F";
L.WD_timer.num:=num;
L.WD_timer.msg:="stop";
mode:=0 --- OO0 O0O0O0OOO0ODOOO
destination NDM
output {0.Disconnect_Indication,
P.Send,
L.WD_timer,
L.ADC_Parameters?}
end
nshil is
source SCLOSE
input P.Recv
when P.Recv.msg="u:dm:rsp:F"
do 0O.Disconnect_Indication.msg:="disconnect";
L.WD_timer.num:=num;
L.WD_timer.msg:="stop";
mode:=0 --- OO0O0OOOO0OO0OO
destination NDM
output {0.Disconnect_Indication,
L.WD_timer,
L.ADC_Parameters?}
end
---nshl2 is
--- source SCLOSE
--- input P.Recv
--- when P.Recv.msg="u:dm:rsp:F"
--- destination SCLOSE
--—end
nshi3 is
source SCLOSE
input P.Recv
when P.Recv.msg="s:x:rsp:x"
or P.Recv.msg="i:rsp:x:x:x"
do 0.Disconnect_Indication.msg:="disconnect";
L.WD_timer.num:=num;
L.WD_timer.msg:="stop";
mode:=0 --- OJUOOO0OOOOO0OOOO
destination NDM
output {0.Disconnect_Indication,
L.WD_timer,
L.ADC_Delay}
end
nshl4 is
source SCLOSE
input P.Recv
when P.Recv.msg="x:x:x:P"
do P.Send.msg:="u:rd:rsp:F";
L.WD_timer.num:=num;
L.WD_timer.msg:="start"
destination SCLOSE
output {P.Send,
L.WD_timer,
L.WMT_Delay}
end
nshlb is
source SCLOSE
input P.Recv
when P.Recv.msg="x:x:x:x"
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do L.WD_timer.num:=num;
L.WD_timer.msg:="start"
destination SCLOSE
output L.WD_timer
end
nshl6 is
source SCLOSE
input L.WD_timer
when L.WD_timer.num=num
and L.WD_timer.msg="expired"
do O0.Disconnect_Indication.msg:="disconnect";
mode:=0 --- OO0 O0OOOOO0OOOO
destination NDM
output {0.Disconnect_Indication,
L.ADC_Parameters}
end
---gooooooo oooao
end

-—-—-d0obooooooboooooo
class PHLAYER
field P:PHYSICAL
state sO
transition
start is
source init
destination sO
end
t10 is
source sO
input P.Send_dCmd
do P.Recv_dCmd.val:=P.Send_dCmd.val;
P.Recv_dCmd.va2:=P.Send_dCmd.va2
destination sO
output P.Recv_dCmd
end
t1l is
source sO
input P.Send_dRsp
do P.Recv_dRsp.val:=P.Send_dRsp.val;
P.Recv_dRsp.msg:=P.Send_dRsp.msg
destination sO
output P.Recv_dRsp
end
t12 is
source sO
input P.Send_sRsp
do P.Recv_sRsp.val:=P.Send_sRsp.val;
P.Recv_sRsp.msg:=P.Send_sRsp.msg
destination sO
output P.Recv_sRsp
end
t13 is
source sO
input P.Send_Con
do P.Recv_Con.msg:=P.Send_Con.msg;
P.Recv_Con.val:=P.Send_Con.val;
P.Recv_Con.va2:=P.Send_Con.va2
destination sO
output P.Recv_Con
end
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t14 is
source s0
input P.Send
do P.Recv.msg:=P.Send.msg
destination sO
output P.Recv

end

end

-——- IxLAPO0O0OOOOOO0OOOO0OO0O0O
class TIMER
field L:LOCAL
attribute count, num, kind:Int
state OFFTIMER, ONTIMER
transition
start is
source init
do count:=0; --—- QOgaoog
kind:=0 -—— 0o0ooooon
destination OFFTIMER
end
tla is
source OFFTIMER
input L.slot_timer
when L.slot_timer.num=num
and L.slot_timer.msg="start"
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do kind:=1
destination ONTIMER
end
tib is

source OFFTIMER

input L.query_timer

when L.query_timer.num=num
and L.query_timer.msg="start"

do kind:=2
destination ONTIMER
end
tilc is

source OFFTIMER

input L.sense_timer

when L.sense_timer.num=num
and L.sense_timer.msg="start"

do kind:=3
destination ONTIMER
end
tid is

source OFFTIMER
input L.sniff_timer
when L.sniff_timer.num=num

and L.sniff_timer.msg="start"
do kind:=4
destination ONTIMER
end
tle is

source OFFTIMER

input L.sleep_timer

when L.sleep_timer.num=num
and L.sleep_timer.msg="start"

do kind:=b
destination ONTIMER
end
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tif is
source OFFTIMER
input L.P_timer
when L.P_timer.num=num
and L.P_timer.msg="start"

do kind:=6
destination ONTIMER
end
tlg is

source OFFTIMER

input L.F_timer

when L.F_timer.num=num
and L.F_timer.msg="start"

do kind:=7
destination ONTIMER
end
tih is

source OFFTIMER

input L.WD_timer

when L.WD_timer.num=num
and L.WD_timer.msg="start"

do kind:=8
destination ONTIMER
end
t2 is
source ONTIMER
input not L.slot_timer
or not L.query_timer
or not L.sense_timer
or not L.sniff_timer
or not L.sleep_timer
or not L.P_timer
or not L.F_timer
or not L.WD_timer

do count:=count+1
destination ONTIMER
end

t3a is
source ONTIMER
input L.slot_timer
when L.slot_timer.num=num
and L.slot_timer.msg="stop"
and kind=1
do count:=0;
kind:=0
destination OFFTIMER
end
t3b is
source ONTIMER
input L.query_timer
when L.query_timer.num=num
and L.query_timer.msg="stop"
and kind=2
do count:=0;
kind:=0
destination OFFTIMER
end
t3c is
source ONTIMER
input L.sense_timer
when L.sense_timer.num=num
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and L.sense_timer.msg="stop"
and kind=3
do count:=0;
kind:=0
destination OFFTIMER
end
t3d is
source ONTIMER
input L.sniff_timer
when L.sniff_timer.num=num
and L.sniff_timer.msg="stop"
and kind=4
do count:=0;
kind:=0
destination OFFTIMER
end
t3e is
source ONTIMER
input L.sleep_timer
when L.sleep_timer.num=num
and L.sleep_timer.msg="stop"
and kind=5
do count:=0;
kind:=0
destination OFFTIMER
end
t3f is
source ONTIMER
input L.P_timer
when L.P_timer.num=num
and L.P_timer.msg="stop"
and kind=6
do count:=0;
kind:=0
destination OFFTIMER
end
t3g is
source ONTIMER
input L.F_timer
when L.F_timer.num=num
and L.F_timer.msg="stop"
and kind=7
do count:=0;
kind:=0
destination OFFTIMER
end
t3h is
source ONTIMER
input L.WD_timer
when L.WD_timer.num=num
and L.WD_timer.msg="stop"
and kind=8
do count:=0;
kind:=0
destination OFFTIMER
end

t4a is
source ONTIMER
input L.P_timer
when L.P_timer.num=num
and L.P_timer.msg="restart"
and kind=6
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do count:=0
destination ONTIMER
end
t4b is
source ONTIMER
input L.F_timer
when L.F_timer.num=num
and L.F_timer.msg="restart"
and kind=7
do count:=0
destination ONTIMER
end

tba is
source ONTIMER
input not L.slot_timer
when count=3 and kind=1
do L.slot_timer.num:=num;
L.slot_timer.msg:="expired";
count :=0;
kind:=0
destination OFFTIMER
output L.slot_timer
end
tbb is
source ONTIMER
input not L.query_timer
when count=15 and kind=2
do L.query_timer.num:=num;
L.query_timer.msg:="expired";
count:=0;
kind:=0
destination OFFTIMER
output L.query_timer
end
tbc is
source ONTIMER
input not L.sense_timer
when count=15 and kind=3
do L.sense_timer.num:=num;
L.sense_timer.msg:="expired";
count :=0;
kind:=0
destination OFFTIMER
output L.sense_timer
end
tbd is
source ONTIMER
input not L.sniff_timer
when count=15 and kind=4
do L.sniff_timer.num:=num;
L.sniff_timer.msg:="expired";
count:=0;
kind:=0
destination OFFTIMER
output L.sniff_timer
end
tbe is
source ONTIMER
input not L.sleep_timer
when count=15 and kind=b
do L.sleep_timer.num:=num;
L.sleep_timer.msg:="expired";
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count :=0;
kind:=0
destination OFFTIMER
output L.sleep_timer
end
tbf is
source ONTIMER
input not L.P_timer
when count=15 and kind=6
do L.P_timer.num:=num;
L.P_timer.msg:="expired";
count :=0;
kind:=0
destination OFFTIMER
output L.P_timer
end
tbg is
source ONTIMER
input not L.F_timer
when count=15 and kind=7
do L.F_timer.num:=num;
L.F_timer.msg:="expired";
count:=0;
kind:=0
destination OFFTIMER
output L.F_timer
end
tbh is
source ONTIMER
input not L.WD_timer
when count=15 and kind=8
do L.WD_timer.num:=num;
L.WD_timer.msg:="expired";
count:=0;
kind:=0
destination OFFTIMER
output L.WD_timer
end
end
--- 000000 oooo

-——- Jooooogo
system IrLAP
object irlapi( -—-oooobobo0oooboogo

num:=1; -——- 000000000000
--- 5:=3;
--- 8:=2;
mediaBusy:=false;
frameSent:=false;

NA:=4; -——-0o0oooooooon
sa:=-1; -———0o0ooooooooon
ca:=-1; -——- 0o0oogooood
dest:=-1; --—- 000000000000

windowSize:=6; -—=

Vr:=0; ——— Initialize_Connection_State
Vs:=0; -—-—-o0dooooooobobooooa
retryCount:=0; -

remoteBusy:=false;---
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Ni:=2; --——- Qgogo
N2:=3; --—-Q0goOood
N3:=3; --——-Q0OOood
Store_Vs:="";

Ack_Vs:=false;
AckRequired:=false;
xmitFlag:=false

) :IRLAP

object timeri(
num:=1
) :TIMER

object irlap2( -—-
num:=2; -
--- 5:=3;
--=- 8:=2;
mediaBusy:
frameSent:

NA:=2; —-—=
sa:=-1; —-——-
ca:=-1; -——=
dest:=-1; -

windowSize:=6; -
Vr:=0; S

Vs:=0; --- 0

retryCount:=0; -
remoteBusy:=false;---

N1:=2; --—- Qg
N2:=3; -—— Q0
N3:=3; --—-Q0gd
Store_Vs:="";

Ack_Vs:=false;
AckRequired:=false;
xmitFlag:=false

) :IRLAP

object timer2(
num:=2
) :TIMER

object bottom :PHLAYER
end
-——- 0J000o0oo oooo
--— End of IrLAP Procedure
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